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REASONING ABILITY

8. Four of the following five are alike in a certain way and
so form a group. Which is the one that does not belong
to that group?

(1) HK (2) BD

(3) FI (4) MP
(5) SV

9. Four of the following five are alike in a certain way and
so form a  group. Which is the one that does not belong
to that group?

(1) Tomato (2) Brinjal
(3) Radish (4) Pumpkin

(5) Gourd

10. How many such pairs of letters are there in the word
IMPORTANCE, each of which has as many letters
between them in the word as they have between them
in the English alphabet?

(1) None (2) One
(3) Two (4) Three

(5) More than three

Directions (11-15) :  In these questions, symbols @, #, %,
$ and © are used with different meanings as follows.

‘A @ B’ means ‘A is not smaller than B’.

‘A # B’ means ‘A’ is neither smaller than nor equal to B’

‘A % B’ means ‘A is not greater than B’.

‘A $ B’ means ‘A is neither greater than nor equal to B’.

‘A©B’ means ‘A is neither smaller than nor greater than B’.

11. Statements:
J # H, H © T, T $ R, R % F

Conclusions:
I. J # R II. R # F

III. J # T

(1) Only I is true (2) Only I and II are true

(3) Only III is true (4) All are true

(5) None of these

12. Statements:
E $ P, P % H, H © I, I # K

Conclusions:
I. P © I II. I % E

III. H % K

(1) Only I is true

(2) Only II is true

(3) Only III is true

(4) Only I and II are true
(5) None is true

1. How many such 7s are there in the following number
sequence each of which is immediately preceded by 5
and not immediately followed by 8?

2 3 5 7 8 9 3 4 5 7 6 1 9 3 5 7 4 8 3 2 5 7 8 8 9 2 5

(1) None (2) One

(3) Two (4) Three

(5) More than three

2. If it is possible to form a number with the first, the fourth
and the seventh digits of the number 4671358, which is
the perfect square of a two-digit odd number, which of
the following will the digit in the tenth place of that two
digit odd number? If no such number can be formed,
give ‘O’ as the answer and if more than one such number
can be made, give ‘X’ as the answer.

(1) 2 (2) 9

(3) 3 (4) O

(5) X

3. Among P, Q, R, S and T, Q is younger than only S and
R and older than T. Who among them is the oldest?

(1) S (2) R

(3) P (4) Data inadequate

(5) None of these

4. In a certain code '59346' is written as ‘$AD%F’ and
‘8173’ is written as ‘HB#D’. How is ‘9865’ written in that
code?

(1) HAF$ (2) AFH$

(3) ADF$ (4) BHF$

(5) None of these

5. If ‘M’ denotes ‘÷’, denotes ‘–’, ‘T’ denoted ‘×’ and ‘R’
denotes ‘+’, then.......

20 K 16 T 8 M 4 R 6 = ?

(1) 18 (2) –6

(3) –12 (4) –18

(5) None of these

6. In a certain code language COMPUTER is written as
LNBVQSFU. How is BULKHEAD written in that code
language?

(1) MVCILEBF (2) KTAILEBF

(3) MTAGJEBF (4) KTAGJEBF

(5) None of these

7. How many meaningful English words can be made with
the letters IDET using each letter only once in each
word?

(1) None (2) One

(3) Two (4) Three

(5) More than three
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r kfdZd ; ksX; rk

(1) HK (2) BD
(3) FI (4) MP
(5) SV

9. fuEufyf[ kr i k¡p esa l s pkj fdl h i zdkj l s , d  l eku gSa vkSj os v i uk
, d l ewg cukrs gSaA og , d dkSu&l k gS t ks bl  l ewg esa ' kkfey ugha
gksrk gS\

(1) VekVj (2) cSaxu

(3) ewyh (4) l hrki Qy

(5) díw

10. ' kCn IMPORTANCE esa v{kjksa ds , sl s t ksM+s fdrus gSa ft uesa i zR; sd
ds chp ' kCn esa mrus gh v{kj gSa ft rus vaxzst h o.kZekyk esa muds chp
gksrs gSa\

(1) dksbZ ugha (2) , d

(3) nks (4) rhu

(5) rhu l s v f/ d

funsZ' k (11-15) : fuEufyf[ kr i z' uksa esa l adsr @, #, %, $ rFkk © dks
fofHkUu vFkks± esa fuEufyf[ kr i zdkj l s i z; ksx fd; k x; k gS%

‘A @ B’ dk vFkZ gS ‘A, B l s NksVk ugha gS’A

‘A # B’ dk vFkZ ‘A, B l s u rks NksVk gS u gh cjkcj ’A

‘A % B’ dk vFkZ gS ‘A, B l s cM+k ugha gS’A

‘A $ B’ dk vFkZ gS ‘A, B l s u rks NksVk gS u gh cM+k’A

‘A©B’ dk vFkZ gS ‘A, B l s u rks NksVk gS u gh cM+k’A

11. dFku% J # H, H © T, T $ R, R % F

fu"d "kZ :
I. J # R II. R # F
III. J # T

(1) dsoy I l R;  gSa

(2) dsoy I vkSj II l R;  gSa

(3) dsoy III l R;  gS

(4) l Hkh l R;  gSa

(5) buesa l s dksbZ ugha

12. dFku % E $ P, P % H, H © I, I # K

fu"d "kZ %

I. P © I II. I % E
III. H % K

(1) dsoy I l R;  gS

(2) dsoy II l R;  gS

(3) dsoy III l R;  gS

(4) dsoy I vkSj II l R;  gS

(5) dksbZ l R;  ugha gS

1. fuEufyf[ kr vad Jà[ kyk esa , sl s 7 fdrus gSaa ft uds i zR; sd ds Bhd i gys
5 gS i j rqjar ckn 8 ugha gS\

2 3 5 7 8 9 3 4 5 7 6 1 9 3 5 7 4 8 3 2 5 7 8 8 9 2 5

(1) dksbZ ugha (2) , d

(3) nks (4) rhu

(5) rhu l s v f/ d

2. ; fn l a[ ; k 4671358 ds i gys pkSFks rFkk l krosa vadksa l s dksbZ , sl h
l a[ ; k cukuk l aHko gks t ks nks vadksa okyh fo"ke l a[ ; k dk i w.kZ oxZ gks
rks ml  l a[ ; k dk ngkbZ D; k gksxk\  ; fn , sl h dksbZ l a[ ; k ugha curh gS
rks mÙkj ‘O’ nhft ,  vkSj ; fn , sl h , d l s v f/ d l a[ ; k, ¡ curh gSa] rks
mÙkj ‘X’ nhft , A

(1) 2 (2) 9
(3) 3 (4) O
(5) X

3. P, Q, R, S , oa T, esa Q dsoy S , oa R l s NksVk gS , oa T l s cM+k
gSA muesa l cl s cM+k dkSu gS\

(1) S (2) R

(3) P (4) vk¡dM+s v i ; kZIr

(5) buesa l s dksbZ ugha

4. , d fuf' pr dwV Hkk"kk esa '59346' dks ‘$AD%F’ rFkk ‘8173’ dks
‘HB#D’ fy[ kk t krk gSA ml  dwV Hkk"kk esa ‘9865’ dks fdl  i zdkj
fy[ kk t k, xk\

(1) HAF$ (2) AFH$
(3) ADF$ (4) BHF$

(5) buesa l s dksbZ ugha

5. ; fn ‘M’ dk vFkZ ‘÷’ gS, ‘K’ dk vFkZ gS ‘–’, ‘T’ dk vFkZ ‘×’ rFkk ‘R’
dk vFkZ ‘+’ gS rks

20 K 16 T 8 M 4 R 6 = ?
(1) 18 (2) –6
(3) –12 (4) –18

(5) buesa l s dksbZ ugha

6. , d fuf' pr dwV Hkk"kk esa COMPUTER dks LNBVQSFU fy[ kk
t krk gSA ml h dwV Hkk"kk esa BULKHEAD fdl  i zdkj fy[ kk t k, xk\

(1) MVCILEBF (2) KTAILEBF
(3) MTAGJEBF (4) KTAGJEBF

(5) buesa l s dksbZ ugha

7. v{kjksa IDET, i zR; sd ' kCn esa gj v{kj dk dsoy , d ckj i z; ksx djrs
gq, ] fdrus vFkZi w.kZ ' kCn cuk,  t k l drs gSa\

(1) dksbZ ugha (2) , d

(3) nks (4) rhu

(5) rhu l s T; knk

8. fuEufyf[ kr i k¡p esa l s pkj fdl h i zdkj l s , d l eku gSa vkSj os v i uk
, d l ewg cukrs gSaA og , d dkSu&l k gS t ks bl  l ewg esa ' kkfey ugha
gksrk gS\
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13. Statements:

L @ K, K # R, R $ H, H % N
Conclusions:
I. L # R II. N # R
III. L © N
(1) Only I and II are true
(2) Only either I or II is true
(3) Only II and III are true
(4) Only III is true
(5) None of these

14. Statements:
T $ V, V % K, K © L, L % H
Conclusions:
I. V % H II. T $ L
III. T $ H
(1) Only I and II are true
(2) Only II and III are true
(3) Only I and III are true
(4) All are true
(5) None of these

15. Statements:
V @ W, W # D, D $ M, M % F
Conclusions:
I. V # D II. F # D
III. V © F
(1) Only I is true
(2) Only II is true
(3) Only either I or II is true
(4) Both I and II are true
(5) None of these

Directions (16-20) : Study the following information carefully
to answer these questions.

Eight members A, B, C, D, E, F, G and H belonging to
three families X, Y, Z go for weekend outing in three different
cars I, II, III. Four out of eight members are females. members
of any one family travel in different cars. Each car has at
least one male and one female member. Each family has at
least two members.

A belongs to family Y and he travels in car III. D is wife of
E and they travel in cars I and II respectively. He is son of B
who is wife of G and they belong to family Z. C is daughter of
F who is wife of A. C travels in car II. G does not travel with F.
16. Which of the following group of persons travel in car I?

(1) D, F, G (2) D, E, G
(3) D, G, H (4) D, F, H
(5) None of these

17. Which car has only two members travelling in it?
(1) I (2) II
(3) III (4) II or III
(5) Cannot be determined

18. Which of the following members of families Y and Z
travel in different cars?
(1) F, G (2) C, G
(3) F, H (4) D, E, F
(5) None of these

19. Which of the following group of persons is a group of all
females?
(1) B, D, G (2) A, B, C
(3) B, E, F (4) D, E, F
(5) None of these

20. Which of the following members of families X and Y
travel in the same car?
(1) C, F (2) D, F
(3) C, D (4) F, E
(5) None of these

Directions (21-25) : In each of the  questions below are
given three statements followed by three Conclusions
numbered I, II and III. You have to take the given statements
to be true even if they seem to be at variance from commonly
known facts. Read all the conclusions and then decide which
of the given conclusions logically follows from the given
statements disregarding commonly known facts.
21. Statements :

Some books are trees.
All trees are roads.
All roads are wheels.
Conclusions:
I. Some wheels are books.
II. Some roads are books.
III. Some wheels are trees.
(1) Only I and II follow
(2) Only II and III follow
(3) Only I and III follow
(4) All follow
(5) None of these

22. Statements :
All stones are rivers.
All rivers are cars.
Some cars are trains.
Conclusions:
I. Some trains are stones.
II. Some cars are stones.
III. Some trains are rivers.
(1) None follows
(2) Only I follows
(3) Only II follows
(4) Only III follows
(5) Only II and III follow
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13. dFku % L @ K, K # R, R $ H, H % N

fu"d "kZ %
I. L # R II. N # R
III. L © N
(1) dsoy I vkSj II l R;  gaS

(2) dsoy ; k rks I ; k II l R;  gSa

(3) dsoy II vkSj III l R;  gSa

(4) dsoy III l R;  gS

(5) buesa l s dksbZ ugha

14. dFku % T $ V, V % K, K © L, L % H
fu"d "kZ %
I. V % H II. T $ L
III. T $ H
(1) dsoy I vkSj II l R;  gSa

(2) dsoy II vkSj III l R;  gS

(3) dsoy I vkSj III l R;  gSa

(4) l Hkh l R;  gSa

(5) buesa l s dksbZ ugha

15. dFku %  V @ W, W # D, D $ M, M % F
fu"d "kZ %
I. V # D II. F # D
III. V © F
(1) dsoy I l R;  gSa

(2) dsoy II l R;  gSa

(3) dsoy ; k rks I ; k II l R;  gSa

(4) I vkSj II nksuksa l R;  gSa

(5) buesa l s dksbZ ugha

funsZ' k (16-20) : bu i z' uksa dk mÙkj nsus ds fy,  nh xbZ t kudkjh dk
è; kui woZd vè; ; u dhft , A

rhu i fjokj X, Y, Z ds vkB l nL;  A, B, C, D, E, F, G vkSj  H
rhu vyx&vyx dkj I, II, III esa l Irkgkar Hkze.k ds fy,  t krs gSaA vkB esa l s
pkj efgyk l nL;  gSaA fdl h Hkh , d i fjokj ds l nL;  vyx&vyx dkjksa esa
; k=kk djrs gSaA i zR; sd dkj esa de l s de , d i q#"k vkSj , d efgyk l nL;
gSA i zR; sd i fjokj esa de l s de nks l nL;  gSaA

A, Y i fj okj  l s gS v kSj  d kj  III esa ; k=kk d j r k gSA
D, E dh i Ruh gS vkSj os Øe' k% dkj I vkSj dkj II esa ; k=kk djrs gSaA H, B
dk i q=k gS t ks G dh i Ruh gSA vkSj ; s i fjokj Z l s gSaA C, F dh i q=kh gS t ks
A dh i Ruh gSA C dkj II esa ; k=kk djrh gSA G dh ; k=kk F ds l kFk ugha gks
jgh gSA

16. dkj I esa fuEufyf[ kr esa l s fdu O; fDr; ksa dk l ewg ; k=kk dj jgk gS\
(1) D, F, G (2) D, E, G
(3) D, G, H (4) D, F, H
(5) buesa l s dksbZ ugha

17. fdl  dkj esa dsoy nks l nL;  ; k=kk dj jgs gSa\
(1) I (2) II
(3) III (4) II or III
(5) fu/ kZfjr ugha fd; k t k l drk gSA

18. i fjokj Y vkSj Z ds fuEufyf[ kr esa l s dkSu l s l nL;  vyx&vyx dkj
esa ; k=kk djrs gSa\
(1) F, G (2) C, G
(3) F, H (4) D, E, F
(5) buesa l s dksbZ ugha

19. fuEufyf[ kr esa l s O; fDr; ksa dk dkSu l k l ewg l Hkh efgykvksa dk l ewg
gS\
(1) B, D, G (2) A, B, C
(3) B, E, F (4) D, E, F
(5) buesa l s dksbZ ugha

20. i fjokj X vkSj Y ds fuEufyf[ kr esa l s dkSu l s l nL;  , d gh dkj esa
; k=kk dj jgs gSa\
(1) C, F (2) D, F
(3) C, D (4) F, E
(5) buesa l s dksbZ ugha

funsZ' k (21-25) : uhps fn,  x,  i zR; sd i z' u esa rhu dFku vkSj ml ds ckn
rhu fu"d"kZ I, II vkSj III fn,  x,  gSaA vki dks fn,  x,  rF; ksa dks l R;  ekuuk
gS] Hkys gh os l oZKkr rF; ksa l s fHkUu i zrhr gksaA l Hkh fu"d"kZ i f<+, ] fi Qj r;
dhft ,  fd fn,  x,  fu"d"kks± esa l s dkSu&l k fu"d"kZ fn,  x,  dFkuksa dk
rdZl axr : i  l s vuql j.k djrk gS] l oZKkr rF;  pkgs dqN Hkh gksaA

21. dFku %

dqN fdrkcsa i sM+ gSaA

l Hkh i sM+ l M+d gSaA

l Hkh l M+d i fg,  gSaA

fu"d "kZ %

I. dqN i fg,  fdrkcsa gSaA

II. dqN l M+d fdrkcsa gSaA

III. dqN i fg,  i sM+ gSaA

(1) dsoy I vkSj II vuql j.k djrs gSa

(2) dsoy II vkSj III vuql j.k djrs gSa

(3) dsoy I vkSj III vuql j.k djs gSa

(4) l Hkh vuql j.k djrs gSa

(5) buesa l s dksbZ ugha

22. dFku %

l Hkh i RFkj ufn; ka gSaA

l Hkh ufn; ka dkj gSaA

dqN dkj Vsªu gSaA

fu"d "kZ %

I. dqN Vsªu i RFkj gSaA

II. dqN dkj i RFkj gSaA

III. dqN Vªsu ufn; ka gSaA

(1) dksbZ vuql j.k ugha djrk gS

(2) dsoy I vuql j.k djrk gS

(3) dsoy II vuql j.k djrk gS

(4) dsoy III vuql j.k djrk gS

(5) dsoy II vkSj III vuql j.k djrs gSa
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23. Statements :

All desks are rooms.

Some rooms are halls.

All halls are leaves.

Conclusions:
I. Some leaves are desks.

II. Some halls are desks.

III. Some leaves are rooms.

(1) None follows

(2) Only I follows

(3) Only II follows

(4) Only III follows

(5) Only II and III follow

24. Statements :

Some bags are plates.

Some plates are chairs.

All chairs are tables.

Conclusions:
I. Some tables are plates.

II. Some chairs are bags.

III. No chair is bag.

(1) Only I follow

(2) Only either II or III follows

(3) Only I and either II or III follow

(4) Only III follows

(5) None of these

25. Statements :
All buildings are mirrors.

Some mirrors are pens.

No pen is paper.

Conclusions:
I. Some papers are buildings.

II. Some pens are buildings.

III. Some papers are mirrors.

(1) None follows

(2) Only I follows

(3) Only II follows

(4) Only III follows

(5) Only II and III follows

Directions (26-30) : Study the following information carefully
and answer the given questions:

A word and number arrangement machine when given
an input line of words and numbers rearranges them following

a particular rule in each step. The following is an illustration
of input and rearrangement.

Input : shop 17 table 20 53 oven desk 39

Step I : 17 shop table 20 53 oven desk 39

Step II : 17 table shop 20 53 oven desk 39

Step III : 17 table 20 shop 53 oven desk 39

Step IV : 17 table 20 shop 39 53 oven desk

Step V : 17 table 20 shop 39 oven 53 desk and Step V is
the last step of the rearrangement.

As per the rules followed in the above steps, find out in
each of the following questions the appropriate step for the
given input.

26. Step II of an input is :

15 yes 62 51 48 talk now gone

Which of the following will be step VI?

(1) 15 yes 48 talk 51 now gone 62

(2) 15 yes 48 talk 51  62 now gone

(3) 15 yes 48 talk 51 now 62 gone

(4) There will be no such step

(3) None of these

27. Step III of an input is:

21 victory 30 joint 64 47 all gone

How many more steps will be required to complete the
rearrangement?

(1) Three (2) Four

(3) Five (4) Six

(5) None of these

28. Input : 89 bind 32 goal house 61 12 joy

How many steps will be required to complete the
arrangement?

(1) Four (2) Five

(3) Six (4) Seven

(5) None of these

29. Input : save 21 43 78 then early 36 for

Which of the following steps will be the least but one?

(1) VI (2) VII

(3) VIII (4) V

(5) None of these

30. Input : desire 59 63  all few 38 46 zone

How many steps will be required to complete the
rearrangement?

(1) Four (2) Five

(3) Six (4) Seven

(5) None of these
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23. dFku %

l Hkh MsLd dejs gSaA

dqN dejs gkWy gSaA

l Hkh gkWy i Ùks gSaA

fu"d "kZ %

I. dqN i Ùks MsLd gSaA

II. dqN gkWy MsLd gSaA

III. dqN i Ùks dejs gSaA

(1) dksbZ vuql j.k ugha djrk gSA

(2) dsoy I vuql j.k djrk gS

(3) dsoy II vuql j.k djrk gS

(4) dsoy III vuql j.k djrk gS

(5) dsoy II vkSj III vuql j.k djrs gSa

24. dFku %

dqN cSx IysV gSaA

dqN IysV dqfl Z; k¡ gSaA

l Hkh dqfl Z; k¡ Vscy gSaA

fu"d "kZ %

I. dqN Vscy IysV gSaA

II. dqN dqfl Z; k¡ cSx gSaA

III. dksbZ dql hZ cSx ugha gSA

(1) dsoy I vuql j.k djrk gS

(2) dsoy ; k rks II ; k III vuql j.k djrk gS

(3) dsoy I vkSj ; k rks II ; k III vuql j.k djrs gSa

(4) dsoy III vuql j.k djrk gS

(5) buesa l s dksbZ ugha

25. dFku %

l Hkh fcfYMax vkbZusa gSaA

dqN vkbZusa i su gSaA

dksbZ i su i si j ugha gSA

fu"d"kZ%

I. dqN i si j fcfYMax gSaA

II. dqN i su fcfYMax gSaA

III. dqN i si j vkbZusa gSaA

(1) dksbZ vuql j.k ugha djrk gS

(2) dsoy I vuql j.k djrk gS

(3) dsoy II vuql j.k djrk gS

(4) dsoy III vuql j.k djrk gS

(5) dsoy II vkSj III vuql j.k djrs gSa

funsZ' k % (26-30) : fuEufyf[ kr t kudkjh dk è; kui woZd vè; ; u dj fn,
x,  i z' uksa ds mÙkj nhft , %

, d ' kCn vkSj l a[ ; k O; oLFkk e' khu] ' kCnksa vkSj l a[ ; kvksa dh , d
bui qV ykbu fn,  t kus i j] i zR; sd pj.k esa , d [ kkl  fu; e dk vuql j.k
djrs gq,  i quO; ZofLFkr djrk gSA bui qV vkSj i quO; ZoLFkk dk , d
mnkgj.k uhps fn; k x; k gSA

bui qV : shop 17 table 20 53 oven desk 39

pj.k I : 17 shop table 20 53 oven desk 39

pj.k II : 17 table shop 20 53 oven desk 39

pj.k III : 17 table 20 shop 53 oven desk 39

pj.k IV : 17 table 20 shop 39 53 oven desk

pj.k V : 17 table 20 shop 39 oven 53 desk

vkSj pj.k V i quO; ZoLFkk dk vafre pj.k gSA

mi jksDr pj.kksa esa vuql fjr fu; eksa ds vuql kj] uhps fn,  x, ]

i zR; sd i z' u esa fn,  x,  bui qV ds fy,  mi ; qDr pj.k dk i rk
yxkb, A

26. , d bui qV dk pj.k II gS:

15 yes 62 51 48 talk now gone

pj.k VI fuEufyf[ kr esa l s dkSu l k gksxk\

(1) 15 yes 48 talk 51 now gone 62

(2) 15 yes 48 talk 51  62 now gone

(3) 15 yes 48 talk 51 now 62 gone

(4) , sl k dksbZ pj.k ugha gksxk

(5) buesa l s dksbZ ugha

27. , d bui qV dk pj.k III gS:

21 victory 30 joint 64 47 all gone

bl  i quO; ZoLFkk dks i wjk djus esa vkSj fdrus pj.k yxsaxs\

(1) rhu (2) pkj

(3) i k¡p (4) Ng

(5) buesa l s dksbZ ugha

28. bui qV : 89 bind 32 goal house 61 12 joy

bl  i quO; ZoLFkk dks i wjk djus esa vkSj fdrus pj.k yxsaxs\

(1) pkj (2) i k¡p

(3) Ng (4) l kr

(5) buesa l s dksbZ ugha

29. bui qV : save 21 43 78 then early 36 for

fuEufyf[ kr esa l s dkSu l k vafre l s i gys okyk pj.k gksxk\

(1) VI (2) VII

(3) VIII (4) V

(5) buesa l s dksbZ ugha

30. bui qV : desire 59 63  all few 38 46 zone

bl  i quO; oZLFkk dks i wjk djus ds fy,  fdrus pj.k yxsaxs\

(1) pkj (2) i k¡p

(3) Ng (4) l kr

(5) buesa l s dksbZ ugha
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Directions (31-35) : Study the following information carefully
and answer the questions given below:

P, Q, R, S, T, V and W are seven friends working in a
call centre. Each of them has different day off in a week from
Monday to Sunday not necessarily in the same order. They
work in three different shifts. I, II and III with at least two of
them in each shift.

R works in shift II and his day off is not Sunday. P’s day
off is Tuesday and he does not work in the same shift with
either Q or W. None of those who work in shift I has day off
either on Wednesday or on Friday V works with only T in
shift III. S’s day off is Sunday. V’s day off is immediate next
day of that of R’s day off. T’s day off is not on Wednesday.
W’s day off is not on the previous day of P’s day off. S works
in shift I. Q does not work in the same shift with R and his
day off is not on Thursday.
31. Which of the following is W’s day off?

(1) Tuesday (2) Monday
(3) Saturday (4) Data inadequate
(5) None of these

32. Which of the following is R’s day off?
(1) Friday (2) Thursday
(3) Tuesday (4) Wednesday
(5) None of these

33. Which of the following groups of friends work in shift II ?
(1) RP (2) RV
(3) QWS (4) Data inadequate
(5) None of these

34. Which of the following is Q’s day off ?
(1) Friday (2) Wednesday
(3) Thursday (4) Monday
(5) None of these

35. Which of the following groups of friends work in shift I?
(1) RV (2) RP
(3) QWS (4) Data inadequate
(5) None of these

DIRECTIONS (Qs. 36-40) : In each of these questions there
are two sets of figures. The figures on the top are
Problem Figures (four figures and one question-marked
space) and those on the bottom are Answer Figures
indicated by letters a, b, c, d and e. A series is
established if one of the five Answer Figures is placed
at the “question-marked space”. Question Figures form
a series if they change from left to right according to
some rule. The number of the Answer Figure which
should be placed in the question-marked space is the
answer. All the five figures i.e. four Problem Figures
and one Answer Figure placed in the question-marked
space should be considered as forming the series.

36. Question Figures

C ?

Answer Figures

S

(a) (b) (c) (d) (e)

37. Question Figures

?
Answer Figures

(a) (b) (c) (d) (e)

38. Question Figures

? S
S C

C

Answer Figures

S

S

S S S

(a) (b) (c) (d) (e)
39. Question Figures

s

s

?
s s

Answer Figures

s s
s

s

s
(a) (b) (c) (d) (e)

40. Question Figures

?
Answer Figures

(a) (b) (c) (d) (e)
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funsZ' k (31-35) : fuEufyf[ kr t kudkjh dk è; kui woZd vè; ; u dj uhps fn,
x,  i z' uksa ds mÙkj dhft , A

P, Q, R, S, T, V vkSj W ; s l kr fe=k , d dkWy l saVj esa dke djrs
gSaA l kseokj l s jfookj ds nkSjku buesa l s i zR; sd dk NqV~Vh dk fnu vyx&vyx
gS vkSj t : jh ugha fd bl h Øe esaA ; s vyx&vyx rhu i kyh I, II vkSj III
esa dke djrs gSaA i zR; sd i kyh esa buesa l s de l s de nks dke djrs gSaA

R i kyh II esa dk; Z djrk gS vkSj ml dh NqV~Vh jfookj dks ugha gksrh gSA
P dh NqV~Vh eaxyokj dks gksrh gS vkSj og Q ; k W ds l kFk , d gh i kyh esa
dke ugha djrk gSA i kyh I esa dke djus okys fdl h dh Hkh NqV~Vh cq/  ; k ' kqØokj
dks ugha gksrh gSA V i kyh III esa dsoy T ds l kFk dke djrk gSA S dh NqV~Vh
jfookj dks gksrh gSA V dh NqV~Vh] R dh NqV~Vh ds rqjar ckn okys fnu dks gksrh
gSA T dh NqV~Vh cq/ okj dks ugha gksrh gSA W dh NqV~Vh P dh NqV~Vh  l s i gys
okys fnu ugha gksrh gSA S i kyh I dke djrk gSA Q, R ds l kfk , d gh i kyh esa
dke ugha djrk gS vkSj ml dh NqV~Vh xq#okj dks ugha gksrh gSA
31. W dh NqV~Vh fuEufyf[ kr esa l s fdl  fnu gS\

(1) eaxyokj (2) l kseokj
(3) ' kfuokj (4) MkVk v i ; kZIr gS
(5) buesa l s dksbZ ugha

32. R dh NqV~Vh fdl  fnu gS\
(1) ' kqØokj (2) xq#okj
(3) eaxyokj (4) cq/ okj
(5) buesa l s dksbZ ugha

33. fuEufyf[ kr esa l s fe=kksa dk dkSul k l ewg i kyh II esa dk; Z djrk gS\
(1) RP (2) RV
(3) QWS (4) MkVk v i ; kZIr gS
(5) buesa l s dksbZ ugha

34. Q dh NqV~Vh fdl  fnu gS\
(1) ' kqØokj (2) cq/ okj
(3) xq#okj (4) l kseokj
(5) buesa l s dksbZ ugha

35. fuEufyf[ kr esa l s fe=kksa dk dkSul k l ewg i kyh I esa dk; Z djrk gS\
(1) RV (2) RP
(3) QWS (4) MkVk v i ; kZIr gS
(5) buesa l s dksbZ ugha

DIRECTIONS (Qs. 36-40) : (36 – 40): bu iz'uksa esa izR;sd esa

vkd̀fr;ksa ds nks lewg fn;s x;s gSaA mij iz'u dh vkd̀fr;ka gSa (pkj
vkd̀fr;ksa vkSj ,d iz'u fpUgkafdr LFkku) rFkk mlds uhps (1) (2)
(3) (4) vkSj (5) bu v{kjksa ls n'kkZ;h x;h mÙkj-vkd̀fr;ka gSaA mÙkj-
vkd̀fr;ksa esa ls ,d vkd̀fr dks iz'ufpag ds LFkku ij j[kus ls ,d

Øe laLFkkfir gksrk gSA iz'u fpàkafdr LFkku ij tks mÙkj vkdf̀r
vk,xh mldk v{kj mÙkj gSA ikapksa vkdf̀r;ksa vFkkZr~ pkj iz'u
vkdf̀r;ka vkSj iz'ukfpàkafdr LFkku ij j[kh mÙkj vkd`fr ls Øe
laLFkkfir gksuk pkfg;sA

36. iz'u vkd`fr;k¡

C ?

mÙkj vkd`fr;k¡

S

(a) (b) (c) (d) (e)

37. iz'u vkd`fr;k¡

?
mÙkj vkd`fr;k¡

(a) (b) (c) (d) (e)

38. iz'u vkd`fr;k¡

? S
S C

C

mÙkj vkd`fr;k¡

S

S

S S S

(a) (b) (c) (d) (e)

39. iz'u vkd`fr;k¡

s

s

?
s s

mÙkj vkd`fr;k¡

s s
s

s

s
(a) (b) (c) (d) (e)

40. iz'u vkd`fr;k¡

?
mÙkj vkd`fr;k¡

(a) (b) (c) (d) (e)
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Directions (41-45) Below is given a passage followed by
several possible inferences which can be drawn from the
facts stated in the passage. You have to examine each
inference separately in the context of the passage and decide
upon its degree of truth of falsity.

Mark answer (1) if the inference is ‘definitely true’, ie. it
properly follows from the statements of facts given

Mark answer (2) if the inference is ‘probably’ ‘true’ though
not ‘definitely true’ in the light of the facts given

Mark answer (3) if the ‘data are inadequate’, i.e. from
the facts given you cannot say whether the inference is likely
to be true or false.

Mark answer (4) if the inference is ‘probably false’,
though not ‘definitely false’ in the light of the facts given

Mark answer (5) if the inference is ‘definitely false’, i.e.
it cannot possibly be drawn from the facts given or it
contradicts the given facts.

It is generally accepted that if the monsoon is poor in
any given year, it will have a significantly negative impact on
the lives of millions. Some lives. Such as those of farmers,
are affected directly because of  poor crop yield; others are
affected indirectly as he economic growth slows down.
Similarly, the years with good monsoon bring smiles and
prosperity to the lives of many. For instance, India recorded
a sharp jump in its rate of growth after yeas of performance
in the recent years. This unfortunate cycle affects the lives of
millions of poor and hapless. But it need not be this way. In
the jargon of f inancial economics, monsoon risk is a
diversifiable risk. In other words, it is an insurance risk. Though
one might wonder who will provide the insurance against poor
moons if everyone is adversely affected by poor monsoon?
The answer is the international investor.
41. All over the world diversifiable risks are always covered

by the insurance companies.
42. Scanty monsoon adversely affects the lives of only the

poor people in India.
43. There has been considerable growth in India’s economy

during the recent years.
44. Monsoons in India have been good only in the alternate

years during the past few years.
45. Majority of the people outside India are not affected by

the poor monsoon in India.
Directions (46-50) : In each question below is given a
statement followed by two courses of action numbered I and
II. A course of action is a step or administrative decision to
be taken for improvement, follow-up or further action in regard
to the problem, policy, etc. On the basis of the information
given in the statement, you have to assume everything in the
statement, you have to assume everything in the statement
to be true, then decide which of the suggested courses of
action logically follow(s) for pursuing.

Give answer (1) if only I follows.
Give answer (2) if only II follows.
Give answer (3) if either I or Ii follows.
Give answer (4) if either I nor II follows.
Give answer (5) if both I and II follow.

46. Statement :
The local college principal has ordered that all the
students must strictly adhere to the dress code
stipulated by the college authority in the admission
brochure.
Courses of action :
I. Those students who are found to violate the dress

code should be terminated from the college.
II. Those students who are found to violate the dress

code for the first time should be reprimanded and
be warned against further violation.

47. Statement :
The railways have decided to repair the main tracks
within the cty on the following Sunday and has decided
to suspend operations for the whole day.
Courses of action:
I. The railway authority should issue public notification

well in advance to ease inconvenience to the
passengers.

II. All the long distance trains entering the city during
the repair hours should be terminated outside the
city limit.

48. Statement :
Many motorists driving on the high way within the city
are found to be driving much beyond the permissible
speed limit.
Courses of action :
I. The traffic police should personally monitor the

movement of vehicles on the highway within the
city.

II. The government should immediately put in place a
mechanism to identify and punish erring drivers.

49. Statement :
Majority of the city employees in the renowned BPO
company has left their jobs to protest against inhuman
treatment meted out to them by the company.
Courses of action :
I. The Government should immediately order the BPO

company to close down its operation.
II. The BPO company should shift its operations to

some other place to continue its operations.
50. Statement :

The management of the organisation has issued a
circular to all its employees stating that each employee
must report for duly at 10.00 A.M. sharp and should
remain in his/her place till 5.30 P.M. everyday.
Courses of action :
I. The management should evolve a mechanism to

identify such employees who may not adhere to
the time schedule.

II. All such employees who are found to be failing to
maintain time schedule should be summarily
suspended.
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funsZ' k (41-45): uhsps , d vuqPNsn vkSj muds ckn dbZ l aHkkfor vuqeku fn,
x,  gSa] ft Ugsa vuqPNsn esa fn x,  rF; ksa ds vk/ kj i j fudyk t k l drk gSA
vki dks vuqPNsn ds l anHkZ esa gjsd vuqeku dh vyx&vyx t kap djuh gSA
rFkk fi Qj bl dh l R; rk ; k v l r; rk dh dksfV fuf' pr djuh gSA

mÙkj (1) nhft ,  ; fn vuqeku f̂uf' pr : i  l s l R; * gS vFkkZr~ fn, ~ x,
rF; ksa dk mfpr : i  l s vuql j.k djrk gSA

mÙkj (2) nhft ,  ; fn vuqeku l̂ aHkor% l R; * gS] ; | fi  fn,  x,  rF; ksa
ds i zdk' k esa f̂uf' pr : i  l s l R;  ugha gSA

mÙkj (3) nhft ,  ; fn ‘MkVk v i ; kZIr gS’ vFkkZr~ fn,  x,  rF; ksa ds vk/
kj i j vuqeku dks l aHkor% l R;  ; k v l R;  dg i kuk l aHko ugha gSA

mÙkj (4) nhft ,  ; fn vuqeku  ‘l aHkor% vl R; ’ gS, ; | fi  fn,  x,  rF; ksa
ds i zdk' k esa ‘fuf' pr : i  l s v l R; ’ ugha gSA

mÙkj (5) nhft ,  ; fn vuqeku ‘fuf' pr : i  l s vl R; ’ gS, vFkkZr~ ; g fn,
x,  rF; ksa l s l aHkor% fudkyk ugha t k l drk ; k mudk fojks/ h gSA

vkerkSj i j ; g ekuk t krk gS fd ; fn fdl h o"kZ ekul wu de gks rks] ml dk
yk[ kksa yksxksa ds t hou i j egRoi w.kZ <ax l s udkjkRed vl j gksxkA dqN t hou]
t Sl s fdl kuksa ds] i Ql y de gksus l s l h/ s i zHkkfor gksaxs] nwl js i jks{k : i  l s
i zHkkfor gksaxs D; ksafd vkfFkZd fodkl  / hek gks t k, xkA bl h rjg vPNh ekul wu
okys o"kZ cgqrksa dh ft anxh esa eqLdku vkSj l ef̀¼ ys vkrs gSaA mnkgj.k fy,
Hkkjr us gky ds o"kks± esa fu"i knu o"kks± ds ckn fodkl  nj esa rst  mNky nt Z
dhA ; g nqHkkZX; i w.kZ pØ yk[ kksa xjhc vkSj vHkk ft anfx; ksa dks i zHkkfor djrk
gSA ysdu , sl k gksuk t : jh ugha gSA foÙkh;  vFkZ' kkL=k dh ' kCnkoyh esa ekul wu
dk t ksf[ ke fo' kkf[ kr fd t k l dus okyk t ksf[ ke gSaA nwl js ' kCnksa esa ; g , d
chek t ksf[ ke gSaA gkykafd gj dksbZ l kspsxk fd t c gj fdl h i j [ kjkc ekul wu
dk i zfrdwy i zHkko i M+ jgk gks rks ml ds cnys chek dkSu mi yC/  djk, xk\

mÙkj gS& vUrjkZ"Vªh;  fuos' kdA

41. fo' o esa l Hkh t xg fo' kkf[ kr fd,  t k l dusokys  t ksf[ keksa dks chek
dai fu; ka doj djrh gSA

42. de ekul wu Hkkjr esa fl i ZQ xjhc yksxksa ds t hou i j gh i zfrdwy i zHkko
Mkyrh gSA

43. gky ds o"kks± esa Hkkjr dh vFkZO; oLFkk esa ; Fks"B òf¼ gqbZ gSA

44. fi Nys dqN o"kks± ds nkSjku Hkkjr esa dsoy gj , dkUrj o"kZ gh vPNk
ekul wu vk; k gSaA

45. Hkkjr l s ckgj ds vf/ l a[ ; d yksx Hkkjr esa [ kjkc ekul wu l s i zHkkfor
ugha gksrs gSaA

funsZ' k (46-50) : uhps i zR; sd i z' u esa , d dFku vkSj ml ds ckn dk; Zokgh
ds nks mi k;  I vkSj II fn,  x,  gSaA dk; Zokgh l s rkRi ; Z ml  mi k;  vFkok
i z' kkl dh;  fu.kZ;  l s gS t ks l eL; k] uhfr vkfn ds l anHkZ esa l q/ kj vuqorZu ; k
vkxs dh t kus okyh dk; Zokgh l s l acaf/ r gSA dFku esa nh gqbZ t kudkjh ds vk/
kj i j vki dks dFku esa nh xbZ i zR; sd ckr dks l gh ekuuk gS vkSj ml s ckn
r;  djuk gS fd fn,  x,  l q>koksa esa l s dkSu&l h dk; Zkgh dk; kZUo; u ds fy,
rdZl axr : i  l s vuql j.k djrh gSA

mÙkj nhft ,  (1) ; fn dsoy I vuql j.k djrh gSA

mÙkj nhft ,  (2) ; fn dsoy II vuql j.k djrh gSA

mÙkj nhft ,  (3) ; fn ; k rks I ; k II vuql j.k djrh gSA

mÙkj nhft ,  (4) ; fn u rks I vkSj u gh II vuql j.k djrh gSA

mÙkj nhft ,  (5) ; fn I vkSj II nksuksa vuql j.k djrh gaSA

46. dFku :

LFkkuh;  dkWyst  ds i zkpk; Z us vkns' k fn; k gS fd i zos' k czks' kj esa dkWyst
i zkf/ dj.k }kjk r;  fd,  x,  Msªl  dksM dk l Hkh Nk=kksa }kjk dM+kbZ l s
i kyu fd; k t kuk pkfg, A

dk; Zokfg; ka :

I. Msªl  dksM dk mYya?ku djus okys Nk=kksa dks dkWyst  l s fudky
fn; k t kuk pkfg, A

II. i gyh ckj Msªl  dksM dk mYya?ku djus okys Nk=kksa dks MkaVk t kuk
pkfg,  vkSj vkxs mYya?ku  u djus dh psrkouh nhus pkfg, A

47. dFku:

jsyos us vyx jfookj dks ' kgj ds Hkhrj eq[ ;  i VM+h dh ejEer djus
dk i QSl yk fd; k gS vkSj i wjk fnu jsyxkfM+; ksa ds vkokxeu dks LFkfxr
djus dk fu.kZ;  fy; k gSA

dk; Zokfg; ka :

I. ; kf=k; ksa dh v l qfo/ k de djus ds fy,  jsyos i zkf/ dj.k dks
l koZt fud vf/ l wpuk l e;  jgrs fudkyuh pkfg, A

II. ejEer ds l e;  ds nkSjku ' kgj esa i zos' k djus okyh yach nwjh dh
l Hkh jsyxkfM+; ksa dks ' kgj dh l hek ds ckgj gh jksd nsuk pkfg, A

48. dFku %

' kgj ds Hkhrj gkbZos i j Mªkbo djus okys cgqr l s eksVjpkyd Lohdk; Z
xfr l hek l s dgha T; knk xfr l s eksVj pykrs gq,  i k,  x,  gSaA

dk; Zokfg; ka :

I. VªSfi Qd i qfyl  v f/ dkfj; ksa dks ' kgj ds Hkhrj gkbos i j okguksa ds
vkokxeu dh O; fDrxr : i  l s fuxjkuh djuh pkfg, A

II. l jdkj dks xyrh djus okys pkydksa dks i gpkuus vkSj naM nsus
dh rRdky , d O; oLFkk cukuh pkfg, A

49. dFku :

i zfl ¼ BPO dai uh esa dk; Zjr ' kgj ds deZpkfj; ksa us dai uh }kjk fd,
x,  vekuoh;  O; ogkj ds f[ kyki Q fojks/  Lo: i  v i uh ukSdfj; ka NksM+
nh gSaA

dk; Zokfg; ka :

I. i zfl ¼ BPO dai uh dks v i us i fjpkyu can djus dk  vkns' k
rRdky nsuk pkfg, A

II. BPO dai uh dks muds i fjpkyuksa dks t kjh j[ kus ds fy,  rRdky
vi us i fjpyuksa dks fdl h nwl jksa t xg ys t kuk pkfg, A

50. dFku :

l aLFkk ds i zca/ u us v i us l Hkh deZpkfj; ksa dks ; g crkrs gq,  , d i fji =k
t kjh fd; k gS fd i zR; sd deZpkjh dks l qcg Bhd 10.00 ct s M~; wVh
i j fji ksVZ djuk pkfg,  vkSj 5.30 ct s rd v i us dk; ZLFky i j jguk
pkfg, A

dk; Zokfg; ka :

I. l e;  l kj.kh dk i kyu u djus okys deZpkfj; ksa dh i gpku djus
ds fy,  i zca/ u dks , d O; oLFkk fodfl r djuh pkfg, A

II. mu l Hkh deZpkfj; ksa dks l af{kIr i zfØ; k l s fuyafcr dj fn; k t kuk

pkfg,  t ks l e;  l kj.kh dk i kyu djus esa v l i Qy jgsaA
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ENGLISH LANGUAGE

51. What is the likely impact of ensuring farmers’ benefit
from  government schemes ?
1. They can use the credit from these schemes to

repay moneylenders.
2. The government can control the price rise.
3. Increased agricultural production.
(1) Both 1 and 2 (2)  All 1, 2 and 3
(3) Only 3 (4) Both 2 and 3
(5) None of these

52. Why does the author feel that rural India has been
overlooked in the past ?
1. Institutional credit was only made available for Kharif

crops.
2. Drop in investment in central areas related to

agriculture.
3. Records of those eligible for loan waivers have not

been maintained over time.
(1) Only 2 (2) Both 1 and 2
(3) Only 3 (4) All 1, 2 and 3
(5) None of these

53. How can small farmers avoid debt ?
(1) They need to acquire additional land holdings
(2) They need to take advantage of both government

schemes as well as credit from moneylenders
(3) They have to ensure a sufficient amount of their

farm produce is sold
(4) The Government should provide periodic loan waivers
(5) None of these

54. What is the objective of the Indebted Farmers’ Support
Consortium ?
(1) It is a support group for the families of indebted

farmers
(2) It has to devise new government schemes for

farmers
(3) It has to track farmers eligible for government

schemes
(4) It has to evaluate government schemes and weed

out the inefficient ones
(5) None of these

55. What does the author mean by the phrase“indebtedness
of the country to its farm families” ?
(1) If farmers are in debt it impacts the entire country
(2) Citizens should be grateful to farmers and their

families for the hardships borne by them to cultivate
crops

(3) India’s food production has fallen causing it to be in
debt since it has to import food

(4) The number of farmers’ descendants taking up
agriculture has fallen.

(5) None of these
56. What is the author’s opinion of recurring loan waivers ?

(1) They are beneficial to farmers
(2) They are detrimental to the system of lending.
(3) They will reduce the need for a Minimum Support

Pricefor agricultural products
(4) Farmers will no longer be in debt to moneylenders
(5) None of these

DIRECTIONS (Qs. 51-65) : Read the following passage
carefully and answer the questions given below it. Certain
words have been printed in bold to help you locate them
while answering some of the questions.
We should recognise the indebtedness of the country to its
farm families who toil to safeguard national food security.
Loan waiver is the price we have to pay for the neglect of
rural India over the past several decades. There has been a
gradual decline in investment in key sectors related to
agriculture such as infrastructure, marketing, post harvest
technology etc. The four crore farmers whose debt is to be
relieved will be eligible for institutional credit for their
cultivation expenses during Kharif 2008. The challenge is to
prevent them from getting into the debt trap again. For this
purpose the Central and various State governments should
set up an Indebted Farmers’ Support Consortium, comprising
scientists, panchayat raj officials and others relevant to
assisting farmers to improve the profitability and productivity
of their farms in an environmentally sustainable manner. The
smaller the farm, the greater is the need for marketable
surplus to reduce indebtedness.
The Indebted Farmers’ Support Consortium should aim to
get all the four crore farmers all the benefits of the government
schemes such as the Rashtriya Krishi Vikas Yojana,
Irrigation Benefit Programme and others. If this is done, every
farm family released from the debt trap should be able to
produce at least an additional half tonne per hectare of
foodgrains. This should help increase food production byabout
20 million tonnes by 2008-10. At a time when global and
national food stocks are dwindling and prices are rising, this
will be a timely gain for our national food security.
We need to ensure that the outcome of the debt waiver is
enhanced farmers’ income and production. The prevailing gap
between potential and actual yields in the crops of rainfed
areas such as pulses and oilseeds is over 200 per cent even
with the necessary technologies on the shelf. We are now
importing without duty large quantities of pulses and oilseeds.
If helped, farmers can produce these at a lower cost.
Opportunities for assured and remunerative marketing are
essential if loan waiver is not to become a recurring event
leading to the destruction of the credit system. This is why
the Minimum Support Price is necessary for all, not just for a
few crops which is the case at present. This is the single
most effective step to make loan waivers history. There is
another urgent step which needs to be taken. The loan waiver
does not cover those who borrow from moneylenders. It will
not be possible for the government to scrutinise the veracity
of such private deals but steps can be taken such as giving
them Smart Cards which will entitle them to essential inputs
like seeds and fertilizers. The gram sabha can be entrusted
with the task of identifying these farmers so that there is
transparency in the process and elimination of the chances
for falsification and corruption. Fear of occasional misuse
should not come in the way of enabling millions of poor farmers
who have borrowed from informal sources if we are to achieve
the goal of four per cent growth in agriculture.
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57. Which of the following is TRUE in the context of the

passage ?
(1) The Minimum Support Price for agricultural products

is yet to be implemented
(2) Loan waiver is a permanent solution to indebtedness

of farmers
(3) Current agricultural growth is below four per cent
(4) India’s food production has increased in 2008
(5) Moneylenders benefit from loan waivers

58. Why does the loan waiver not cover credit taken from
moneylenders ?
1. It is difficult to verify these contracts between farmers

and moneylenders.
2. It will increase the deficit in the budget.
3. There is a risk that the funds may be

misappropriated.
(1) Both 1 and 3 (2) All 1, 2 and 3
(3) Only 2 (4) Both 1 and 2
(5) None of these

59. Why is there a vast gap in actual and potential yields of
crops in rainfed areas ?
(1) The government prefers to import these crops at a

lower rate
(2) No technological advances have been made to

improve the growth of crops in these areas
(3) There is no Minimum Support Price available for

these crops
(4) Farmers are forced to sell these crops at a low rate
(5) None of these

60. How does the government intend to ensure transparency
in the Smart card issuance process ?
(1) Screening private players involved in the scheme
(2) Granting access to those farmers who register with

their local moneylenders
(3) Providing cards which cannot be forged
(4) Regularly rotating members of the gram sabha so

there is no corruption
(5) None of these

DIRECTIONS (Qs. 61–63): Choose the word which is most
similar in meaning to the word printed in bold as used in the
passage.
61. assured

(1) insured (2) definite
(3) doubted (4) confident
(5) reliance

62. relieved
(1) exempted (2) backed
(3) supported (4) calmed
(5) substituted

63. gap
(1) hole (2) break
(3) pause (4) difference
(5) interruption

DIRECTIONS (Qs. 64–65): Choose the word which is most
opposite in meaning to the word printed in bold as used in
the passage.
64. timely

(1) young (2) lately
(3) overdue (4) aged
(5) slowly

65. elimination
(1) authority (2) forgiveness
(3) attack (4) provision
(5) protection

DIRECTIONS (Qs. 66–70): In each of these questions, in
the given sentences, a part of the sentence is bold. Beneath
each sentence, four different ways of paraphrasing the bold
part are indicated. Choose the best alternative.
66. Expect for you and I, everyone brought a present to

the party.
(1) With the exception of you and I, everyone brought
(2) Except for you and I, everyone had brought
(3) Except for you and me, everyone brought
(4) Except for you and me, everyone had brought
(5) None of these

67. Although I calculate that he will be here any minute,
I cannot wait much longer for him.
(1) Although I reckon that he will be here
(2) Although I think that he will be here
(3) Because I am confidant that he will be here
(4) Because I calculate that he will be here
(5) None of these

68. We want the teacher to be him who has the best
rapport with the students.
(1) We want the teacher to be he
(2) We want him to be the teacher
(3) We desire the teacher to be him
(4) We anticipate the teacher to be him
(5) None of these

69. Today this is a totally different world than we have
seen in the last decade.
(1) than what we seen (2) then we have seen
(3) from what we seen (4) from what we have seen
(5) None of these

70. Although he was the most friendly of all present and
different from the others, he hadn’t hardly any
friends except me.
(1) different from the others, he hardly had any friends

except I
(2) different than the others, he hardly had any friends

except me
(3) different than the others, he hardly had any friends

except I
(4) different from the others, he hardly had any friends

except me
(5) None of these

DIRECTIONS (Qs. 71–75): Rearrange the following six
sentences (1), (2), (3), (4) and (5) in the proper sequence to
form a meaningful paragraph, then answer the questions given
below them.
A. Eight years after starting the programme of providing

single-dose nevirapine to cut mother-to child transmisson
of HIV, the National AIDS Control Organisation (NACO)
is reassessing the monotherapy strategy.

B. Although hailed as a miracle that reduces the chances
of vertical transmission by 45-55 per cent and protects
thousands of children around the world from getting
infected with HIV at the time of birth, the single- dose
regime has been found to cause drug resistance in
mothers and babies.

C. Drug resistance is a major problem specially where the
drugs available to treat the virus are few and the cost of
second-line drugs is prohibitive.
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D. There is a great compulsion to maintain the efficacy of

existing drugs and reduce the risk of treatment failure.
E. With drug resistance rising steadily for various reasons,

including a lack of compliance by those undergoing
treatment, compounding the risk through wrong medical
intervention is obviously unacceptable.

71. Which of the following should be the FIRST sentence?
(1) A (2) B
(3) C (4) D
(5) E

72. Which of the following should be the SECOND
sentence?
(1) A (2) B
(3) C (4) D
(5) E

73. Which of the following should be the THIRD sentence?
(1) A (2) B
(3) C (4) D
(5) E

74. Which of the following should be the FOURTH sentence?
(1) A (2) B
(3) C (4) D
(5) E

75. Which of the following should be the FIFTH (LAST)
sentence?
(1) A (2) B
(3) C (4) D
(5) E

DIRECTIONS (Qs. 76-80) : In each of these questions, one
sentence is split and written in four portions. Each sentence
is complete, but contains an error. Choose the portion of the
sentence with the error.
76. You (1) / will be ready (2) / to start (3)/while he comes

(4)/. No error (5).
77. The girls (1)/which (2)/won were honoured (3)/by their

friends (4)/. No error (5).
78. Ram asked (1)/ would I go (2)/to the college (3)/ with

(4)/ him. No error (5).
79. Recent studies have shown (1)/that non-smoking (2)/

are more productive (3)/than those (4)/who smoke/. No
error (5).

80. I heard (1)/ Sita’s (2) /knocking at (3)/ the door (4)/. No
error (5).

DIRECTIONS (Qs. 81-85): In each of these questions a
disarranged sentence is given in which words or phrases are
lettered P, Q, R and S. You are to arrange these to form a
meaningful sentence.
81. P : an image of a person in meditative pose

Q : surrounded by animals, wild and tame

R : we have in the relics of Mohenjodaro
S : with eyes closed and indrawn
(1) R P S Q (2) P Q S R
(3) R Q P S (4) Q P R S
(5) None of these

82. P: by her indulgent parents
Q : the child was so spoiled
R : when she did not receive all of their attention
S : that she pouted and became sullen
(1) R Q P S (2) Q R P S
(3) Q P S R (4) Q S P R
(5) None of these

83. P : new members
Q : and to raise money
R : the purpose of the meeting
S : is to introduce
(1) R S P Q (2) P Q S R
(3) R Q P S (4) Q P R S
(5) None of these

84. P : for the future
Q : and poses the major challenge
R : commercial energy consumption
S : shows an increasing trend
(1) R P S Q (2) R S Q P
(3) R Q P S (4) P R S Q
(5) None of these

85. P : that
Q : racialism
R : should be wiped out
S : people want
(1) R P S Q (2) S P Q R
(3) R Q P S (4) Q P R S
(5) None of these

DIRECTIONS (Qs. 86-95) : In the following passage there
are blanks, each of which has been numbered. These
numbers are printed below the passage and against each,
five words are suggested, one of which fits the blank
appropriately. Find out the appropriate word in each case.

One day an expert in time management was …(86)…
to a group of business management students and to
drive home a point he used and …(87)… they will never
forget. As he stood in front of a group of brilliant students
he said, “Okay it’s …(88)… for a quiz.” He then pulled
out a one gallon jar and set it on the table in front of him.
He also …(89)… a dozen fist sized rocks and carefully
placed them one at a time into the jar. When the jar was
filled to the top and …(90)… more rocks would fit inside,
he asked, “Is the jar full ?” Everyone in the class …(91)…
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said ‘Yes!’ The professor said nothing. He then …(92)…
under the table and pulled out a bucket of gravel. He
dumped some gravel into the jar and shook it …(93)…
pieces of gravel to work themselves down into the spaces
between the big rocks. He asked the group once more,
“Is the jar full ?” ‘Probably not.’ some answered. ‘Good !’
he said and began…(94)… sand to the contents in the
jar. The sand fitted into the spaces between the rocks
and gravel. He also poured water into the jar. “What was
the point of this exercise ?” he asked. “The point is that
no matter how busy your schedule is you can always
manage to fit something in.” replied one student. ‘No’
said the professor, “The truth is if you don’t fit in the
rocks which symbolize the …(95)…things in your life
like your family and your dreams first, you’ll never have
time for them.”

86. (1) addressing (2) conveying

(3) speaking (4) discussing

(5) expressing

87. (1) imagination (2) impression

(3) expression (4) emblem

(5) illustration

88. (1) ready (2) usual

(3) opportunity (4) time

(5) scheduled

89. (1) made (2) produced

(3) dug (4) constructed

(5) ploughed

90. (1) any (2) no

(3) few (4) some

(5) much

91. (1) definite (2) forcibly

(3) convince (4) positive

(5) emphatically

92. (1) reached (2) hid

(3) gone (4) searching

(5) found

93. (1) making (2) until

(3) causing (4) while

(5)  resulting

94. (1) filling (2) pushing

(3) substituting (4) adding

(5) stuffing

95. (1) important (2) necessarily

(3) vitally (4) ideal

(5) expensive

DIRECTIONS (Qs. 96-100) : In each of the following
sentences there are two blank spaces. Below each five pairs
of words have been denoted by letters (1), (2), (3), (4) and
(5). Find out which pair of words can be filled up in the blanks
in the sentence in the same sequence to make the sentence
meaningfully complete.

96. A committee has been…………..to…………..the
transformation of the city into an international finance
centre.

(1) constituted, convert

(2) appointed, oversee

(3) converged, evaluate

(4) inducted, change

(5) inaugurated, determine

97. Keeping in mind the…………..to develop the sector the
government has………….. solicited foreign investment.

(1) importance, never

(2) proposal, forcibly

(3) objective, wanted

(4) view, discretely

(5) need, actively

98. In his speech he vowed to…………..the four billion
unbanked individuals across the world into
the…………..of financial inclusion.

(1) represent, sphere

(2) target, area

(3) bring, realm

(4) engage, achievement

(5) convince, era

99. Although he puts in…………..of overtime and takes few
holidays, he…………..cannot support his family.

(1) sufficient, however

(2) lot, besides

(3) much, thus

(4) plenty, still

(5) frequency, yet

100.They have been…………..on incentives
to…………..these practices are implemented at grass
root level.

(1) relying, ensure

(2) improving, secure

(3) advocating, confirm

(4) debating, necessitate

(5) focusing, display
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QUANTITATIVE  APTITUDE

109. What is the 30% of 40% of 
2 th
5  of 2500?

(1) 500 (2) 400
(3) 360 (4) 120
(5) None of these

110. A, B, C and D are four consecutive even numbers
respectively and their average is 65. What is the product
of A and D ?
(1) 3968 (2) 4216
(3) 4092 (4) 4253
(5) More than three

111. Shankar started a business with an investment of Rs.
1,20,000. After 3 months. Awani joined him with Rs.
1,90,000. At the end of the year they earned a profit of
Rs. 1,75,000,000. What is the share of Awani in the
profit?
(1) Rs. 8,00,00,000 (2) Rs. 8,50,00,000
(3) Rs. 9,00,00,000 (4) Rs. 9,50,00,000
(5) None of these

112. What will come in place of the question mark (?) in the
following equation?

72 ?
? 32


(1) 46 (2) 38
(3) 36 (4) 58
(5) None is true

113. The present age of Suresh is twice his daughter’s present
age. Six years hence the ratio between the ages of
Suresh and his daughter will be respectively 23 : 13.
What is the present age of Suresh ?
(1) 40 years (2) 36 years
(3) 46 years
(4) Cannot be determined
(5) None of these

114. If 2x 7x 12 0    and  2y 9y 20 0    then what is
the relation between x and y ?
(1) x > y (2) x < y

(3) x y (4) x y

(5) x = y
115. The length of a rectangle is twice its breadth. The area

of the rectangle is 18 sq. metre. Find its perimeter.
(1) 9 m (2) 18 m
(3) 25 m (4) 28 m
(5) None of these

Directions (101-115) : What should come in place of question
mark (?) in the following questions?
101. –84 × 29 + 365 = ?

(1) 2436 (2) 2801
(3) –2801 (4) –2071
(5) None of these

102.  221.69 324 ? 

(1) 440.4615 (2) 425.4561
(3) 452.4561 (4) 442.4651
(5) None of these

103.    800 64 1296 36 ?   

(1) 420 (2) 460
(3) 500 (4) Data 540
(5) None of these

104.    
1
342 229 9261 ?  

(1) 452 (2) 448
(3) 458 (4) 456
(5) None of these

105.  (35423 + 7164 + 41720) – (317 × 89) = ? (1)
28213 (2) 84307
(3) 50694 (4) 54096
(5) None of these

106. The profit earned after selling an article for  Rs. 625 is
the same as loss incurred after selling the article for
Rs. 435. What is the cost price of the article?
(1) Rs. 530 (2) Rs. 520
(3) Rs. 540 (4) Rs. 550
(5) None of these

107. A sum of Rs. 817  is divided among A, B and C such
that ‘A’ receives 25% more than ‘B’ and ‘B’ receives
25% less than ‘C’. What is the ‘A’ share in the amount?
(1) Rs. 228 (2) Rs. 247
(3) Rs. 285 (4) Rs. 304
(5) More than three

108. Ms. Sujata invests 7% i.e. Rs. 2170 of her monthly
salary in mutual funds. Later she invests 18% of her
monthly salary in recurring deposits also, the invest
6% of her salary on NSC’s. What is the total annual
amount invested by Ms. Sujata?
(1) Rs. 1,25,320 (2) Rs. 1,13,520
(3) Rs. 1,35,120 (4) Rs. 1,15,320
(5) None of these
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v kafdd ; ksX; rk

109. 2500 ds 
2
5   ds 40% dk 30% D; k gS\

(1) 500 (2) 400
(3) 360 (4) 120
(5) buesa l s dksbZ ugha

110. A, B, C vkSj D Øe' k% pkj yxkrkj l e l a[ ; k, a gSa vkSj mudk vkSl r
65 gSA A vkSj D dk xq.kui Qy D; k gS\
(1) 3968 (2) 4216
(3) 4092 (4) 4253
(5) buesa l s dksbZ ugha

111. 1,20,000 #i ,  ds fuos' k ds l kFk ' kadj us , d dkjksckj vkjaHk fd; kA
rhu eghus ckn  1,90,000 #i ,  ds fuos' k ds l kFk vfou ml ds l kFk
fey x; k A , d o"kZ ds var esa mUgksaus 1,75,000,000 #i ,  ykHk
dek; kA ykHk esa vfou dk fgLl k fdruk gS\

(1) 8,00,00,000 #i ,

(2) 8,50,00,000 #i ,

(3) 9,00,00,000 #i ,

(4) 9,50,00,000 #i ,

(5) buesa l s dksbZ ugha

112. uhps fn,  x,  l ehdj.k esa nksuksa i z' ufpUg~ (?) ds LFkku i j dkSul h
l a[ ; k vk, xh\

72 ?
? 32


(1) 46 (2) 38
(3) 36 (4) 58
(5) buesa l s dksbZ ugha

113. bl  l e;  l qjs' k dh vk; q ml dh i q=kh l s nqxquh gSA vc l s Ng o"kZ ckn
l qjs' k vkSj ml dh i q=kh dh vk; q dk Øe' k% vuqi kr 23 : 13 gks t k, xkA
l qjs' k dh orZeku vk; q fdruh gS\

(1) 40 o"kZ (2) 36 o"kZ

(3) 46 o"kZ

(4) fu/ kZfjr ugha fd; k t k l drk

(5) buesa l s dksbZ ugha

114. ; fn 2x 7x 12 0    vkSj 2y 9y 20 0    rks x vkSj y ds

chp D; k l aca/  gS ?
(1) x > y (2) x < y

(3) x y (4) x y

(5) x = y
115. , d vk; r dh yEckbZ ml dh pkSM+kbZ l s nqxquh gSA vk; kr dk {ks=ki Qy

18 oxZehVj gS rks ml dh i fjfefr D; k gS\

(1) 9 ehVj (2) 18 ehVj

(3) 25 ehVj (4) 28 ehVj

(5) buesa l s dksbZ ugha

funsZ' k (101-115) : fuEufyf[ kr i z' uksa esa i z' ufpUg~ (?) ds LFkku i j D; k
vk; sxk\
101. –84 × 29 + 365 = ?

(1) 2436 (2) 2801
(3) –2801 (4) –2071
(5) buesa l s dksbZ ugha

102.  221.69 324 ? 

(1) 440.4615 (2) 425.4561
(3) 452.4561 (4) 442.4651
(5) buesa l s dksbZ ugha

103.    800 64 1296 36 ?   

(1) 420 (2) 460
(3) 500 (4) Data 540
(5) buesa l s dksbZ ugha

104.    
1
342 229 9261 ?  

(1) 452 (2) 448
(3) 458 (4) 456
(5) buesa l s dksbZ ugha

105.  (35423 + 7164 + 41720) – (317 × 89) = ? (1)
28213 (2) 84307
(3) 50694 (4) 54096
(5) buesa l s dksbZ ugha

106. , d oLrq dks #i ,  625 esa cspus i j mruk gh ykHk gsrk gSA ft ruh ml s
#i ,  435 esa cspus i j gkfu gksrh gSA og oLrq dh ykxr dher D; k
gS\

(1) #i ,  530 (2) #i ,  520

(3) #i ,  540 (4) #i ,  550

(5) buesa l s dksbZ ugha

107. #i ,  817 dh , d jkf' k A, B vkSj C ds chp bl  i zdkj ckaVh t krh
gS fd ‘A’ dks ‘B’ l s 25% vf/ d vkSj ‘B’ dks ‘C’ l s 25% de
feyrk gSA bl  jkf' k esa ‘A’ dk fgLl k fdruk gS\

(1) #i ,  228 (2) #i ,  247

(3) #i ,  285 (4) #i ,  304

(5) buesa l s dksbZ ugha

108. l qJh l qt krk v i us ekfl d osru ds 7% vFkkZR~ #i ,  2,170/- dk
E; qpqvy i QaMksa esa fuos' k djrh gSA ckn esa og ekfl d osru ds 18%
dk fuos' k vkorhZ t ekvksa esa Hkh djrh gS] og v i us osru ds 6% dk
fuos' k NSC’s esa djrh gSA l qJh l qt krk }kjk fuosf' kr dqy jde
fdruh gS\

(1) #i ,  1,25,320 (2) #i ,  1,13,520

(3) #i ,  1,35,120 (4) #i ,  1,15,320

(5) buesa l s dksbZ ugha
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Directions (116-120) : Each of the questions below consists
of a question and two statements numbered I and II are
given below it. You have to decide whether the data provided
in the statements are sufficient to answer the question. Read
both the statements and–

Give answer (1) if the data in Statement I alone are
sufficient to answer the question, while the data in
Statement II alone are not sufficient to answer the
question .
Give answer (2) if the data in Statement I alone are
sufficient to answer the question, while the data in
Statement I alone are not sufficient to answer the
question.
Give answer (3) if the data in Statement I alone or in
Statement II alone are sufficient to answer the question
Give answer (4) if the data in both the Statements I and
II are not sufficient to answer the question.
Give answer (5) if the data in both the Statements I and
II together are necessary to answer the question.

116. What is Seema’s age?
I. Seema’s age is half of Reema’s age.
II. Reema is 5 years younger than her sister.

117. What is the area of square?
I. The side of the square is 21 cm long.
II. The perimeter of square is 84 cm.

118. In how many days can 10 men do a work?
I. 12 women can do the work in 16 days.
II. 4 men and 6 women together can do the work in

16 days.
119. What is the speed of boat in still water?

I. The boat takes 4 hours to go 12 km downstream.
II. The boat takes 6 hours to cover 12 km in still water.

120. What is the two digit number?
I. The different between the digits of the number is 9.
II. The sum of the digits of the number is 9.

DIRECTIONS (121-125) : Study the following pie-charts
carefully and answer the questions given below it.

The entire fund that school gets from different
sources is equal to ` 500 lakhs.

15%
NGO’S

35%
Donation

45%
Govt. Agencies 5%

Internal Source

Sources of Funds in School

20%
School

Maintenance

30%
Payment

35%
Reserved

15%
Scholarship

Uses of Funds by school
121.What is the difference between the funds acquired by

school from NGO's and internal sources ?
(1) ` 50 lakhs (2) ` 45 lakhs

(3) ` 75 lakhs (4) ` 25lakhs
(5) None of lhese

122.If the school managed 'school maintenance' from the
'government agencies' fund only, then how much fund
from government agencies would still left for other use?
(1) ` 120 lakhs (2) ` 150 lakhs

(3) ` 110 lakhs (4) ` 95 lakhs
(5) None of these

123.If scholarship has to be paid out of the donation fund,
then what is the approximate percent of donation fund
used for this purpose?
(1) 43% (2) 53%
(3) 37% (4) 47%
(5) 32%

124.What is the total amount used by the school for
payment?
(1) ` 100 lakhs (2) ` 110 lakhs

(3) ` 150 lakhs (4) ` 140 lakhs
(5) None of these

125.What amount of the fund is acquired by the school from
govemment agencies?
(1) ` 220 lakhs (2) ` 310 lakhs

(3) ` 255 lakhs (4) ` 225 lakhs
(5) None of these

Directions (126-130) : What will come in place of the question
mark (?) in the following number series?
126. 3   10   32   100 ?

(1) 345 (2) 460
(3) 308 (4) 440
(5) None of these

127. 5   3   4   ?   38
(1) 8.5 (2) 6
(3) 7.5 (4) 8
(5) None of these
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funsZ' k (116-120) : uhps fn,  x,  i z' uksa esa , d i z' u vkSj ml ds uhps I vkSj
II dFku fn,  x,  gSaA vki dks ; g r;  djuk gS fd dFkuksa esa fn; k x; k MkVk
i z' u dk mÙkj nsus ds fy,  i ; kZIr gS ; k ughaA nksuksa dFkuksa dks i f<+,  vkSj

mÙkj (1) nhft ,  % ; fn dsoy dFku I esa fn; k x; k MkVk i z' u dk mÙkj
nsus ds fy,  i ; kZIr gS] t cfd dsoy dFku II esa fn; k x; k MkVk i z' u
dk mÙkj nsus ds fy,  i ; kZIr ugha gSA

mÙkj (2) nhft ,  % ; fn dsoy dFku II esa fn; k x; k MkVk i z' u dk mÙkj
nsus ds fy,  i ; kZIr gS] t cfd dsoy dFku I esa fn; k x; k MkVk i z' u
dk mÙkj nsus ds fy,  i ; kZIr ugha gSA

mÙkj (3) nhft ,  % ; fn ; k rks dsoy dFku I vFkok dsoy dFku II esa
fn; k x; k MkVk i z' u dk mÙkj nsus ds fy,  i ; kZIr gSA

mÙkj (4) nhft ,  % ; fn dFku I vkSj dFku II nksuksa esa fn; k x; k MkVk
feydj i z' u dk mÙkj nsus ds fy,  i ; kZIr ugha gSA

mÙkj (5) nhft ,  % ; fn dFku I vkSj dFku II nksuksa esa fn; k x; k MkVk
i z' u dk mÙkj nsus ds fy,  vko' ; d gSA

116. l hek dh mez D; k gS\

I. l hek dh mez jhek l s vk/ h gSA

II. jhek v i us cgu l s 5 o"kZ NksVh gSA

117. oxZ dk {ks=ki Qy D; k gS\

I. oxZ dh Hkqt k dk eki  21 l seh- gSA

II. oxZ dh i fjfefr 84 l seh- gSA

118. 10 i q#"k fdrus fnu esa dke i wjk dj l drs gSa\

I. dsoy 12 efgyk, a bl  dke dks 16 fnu esa i wjk  dj l drh gSaaA

II. 4 i q#"k vkSj 6 efgyk, a feydj bl  dke dks 16 fnu esa i wjk dj
l drs gSa\

119. ukSdk dh xfr D; k gS\

I. ukSdk dks 12 fdyksehVj vuqi zokg ; k=kk djus esa 4 ?kaVs yxrs gSaA

II. ukSdk dks 12 fdyksehVj dh ; k=kk fLFkj t y esa djus esa 6 ?kaVs
yxrs gSaA

120. f}vadh;  l a[ ; k D; k gS\

I. l a[ ; k ds nksuksa vadksa ds chp dk varj 9 gSA

II. l a[ ; k ds nksuksa vadksa dk ; ksx 9 gSA

funsZ' k (121 -125) : fuEufyf[ kr  i kbZ-pkVZ dks è; ku l s i f<+,  v kSj  uhps
fn,  x,  i z' uksa ds mÙkj  nhft , A

Ldwy dks fofHkUu l zksrksa l s feyus okyh l Ei w.kZ fufèk ` 500
yk[ k ds cjkcj gSA

15%
NGO’S

35%
nku

45%
ljdkjh ,tsafl;k¡ 5%

vkarfjd lzksr

Ldwy esa fuf/k;ksa ds lzksr

20%
Ldwy dk 
j[kj[kko

30%
Hkqxrku

35%
vkjf{kr

15%
Nk=òfÙk

Ldwy }kjk fuf/k;ksa dk iz;ksx

121.Ldwy dks NGO's vkSj vkarfjd l zksrksa l s feyh fufèk ds chp fd ruk
v ar j  gS \

(1) ` 50 yk[ k (2) ` 45 yk[ k

(3) ` 75 yk[ k (4) ` 25 yk[ k

(5) buesa l s dksbZ ugha

122.; fn Ldwy us v i us ĵ[ kj[ kko* dk i zcaèk dsoy l̂ jdkjh , t safl ; ksa* l s
feyh fufèk l s dj fy; k] rks l jdkjh , t safl ; ksa l s feyh fufèk esa l s fdruh
jkf' k nwl js i z; ksx ds fy,  cph jgsxh \

(1) ` 120 yk[ k (2) ` 150 yk[ k

(3) ` 110 yk[ k (4) ` 95 yk[ k

(5) buesa l s dksbZ ugha

123.; fn Nk=kof̀Ùk] nku l s feyh fufèk esa l s nh t kuh gks] rks bl  i z; kst u
ds fy,  nku l s feyh fufèk dk yxHkx fdrus i zfr ' kr  i z; ksx gksxk\

(1) 43% (2) 53%
(3) 37% (4) 47%
(5) 32%

124.Ldwy }kjk Hkqxrku ds fy,  dqy fdruh jkf' k i z; ksx dh t krh gS \

(1) ` 100 yk[ k (2) ` 110 yk[ k

(3) ` 150 yk[ k (4) ` 140 yk[ k

(5) buesa l s dksbZ ugha

125.Ldwy dks l jdkjh , t safl ; ksa l s fufèk dh fdruh jkf' k feyh gS \

(1) ` 220 yk[ k (2) ` 310 yk[ k

(3) ` 255 yk[ k (4) ` 225 yk[ k

(5) buesa l s dksbZ ugha

funsZ' k (126-130) : uhps nh xbZ l a[ ; k Jà[ kyk esa i z' u fpUg~ (?)  ds LFkku
i j D; k vk; sxk\

126. 3   10   32   100 ?
(1) 345 (2) 460
(3) 308 (4) 440

(5) buesa l s dksbZ ugha

127. 5   3   4   ?   38
(1) 8.5 (2) 6
(3) 7.5 (4) 8
(5) buesa l s dksbZ ugha
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128. 5    6    ?    57    244

(1) 21 (2) 16
(3) 17 (4) 15
(5) None of these

129. 3    10    21    ?    51
(1) 34 (2) 32
(3) 33 (4) 37
(5) None of these

130. 5    11    ?    55    117
(1) 21 (2) 27
(3) 23 (4) 25
(5) None of these

DIRECTIONS (131-135) : Study the table carefully to answer
the questions that follow:

PERCENTAGE OF MARKS OBTAINED BY SIX
STUDENTS IN SIX DIFFERENT SUBJECTS

Subject Maths English Science Hindi Social
 Studies

Marathi

Student (out of
150)

(out of
75)

(out of
125)

(out of
50)

(out of
100)

(out of
25)

A 74 68 62 68 81 74
B 64 72 82 68 63 66
C 72 84 78 66 77 70

D 78 82 64 70 69 84
E 82 64 84 72 65 60
F 68 72 74 74 83 80

131. If, to pass in the exam, a minimum of 54 marks in English
and minimum 93 marks in Science are required, how
many students has passed the exam?

(1) One (2) Four

(3) Two (4) Three

(5) None of these

132. Which student has scored the highest marks in all the
subjects altogether?

(1) F (2) E

(3) B (4) C

(5) None of these

133. What are the average marks obtained by all students
together in Hindi?

(1) 35.02 (2) 32.68

(3) 31.33 (4) 30.83

(5) None of these

134. What is the overall percentage of marks obtained by F
in all subjects together?

(1) 74 (2) 72

(3) 75 (4) 78

(5) None of these

135. What are the total marks obtained by B in Maths and
Social Studies together?

(1) 153 (2) 159
(3) 146 (4) 149
(5) None of these

Directions (136-140): What approximate value will come in
place of the question mark (?) in the following  equations?
136. 447.75 28 4.99 ?  

(1) 60 (2) 70
(3) 72 (4) 80
(3) 75

137.  23.5 19.25 ? 275  

(1) 15 (2) 20
(3) 30 (4) 28
(5) 40

138. 85% of 225 32.91 5.01 ?  

(1) 340 (2) 355
(3) 375 (4) 345
(5) 370

139.  215.96 75% of 285 ? 

(1) 435 (2) 485
(3) 440 (4) 420
(5) 470

140. 1679 14.95 5.02 ?  
(1) 540 (2) 525
(3) 545 (4) 565
(5) 520

Directions (141-145) : What should come in place of the
question mark (?) in the following questions?

141.    47 588 28 120 ?   

(1) 6.284 (2) 7.625
(3) 8.225 (4) 8.285
(5) None of these

142. 45% of 224 × ? % of 120 = 8104.32
(1) 67 (2) 62
(3) 59 (4) 71
(5) None of these

143.  37921 51 374 ?  

(1) 16 (2) 19
(3) 15 (4) 21
(5) None of these

144.  26573 21 0.2 ?  

(1) 7825 (2) 62.6
(3) 1565 (4) 12.52
(5) None of these

145. 74158 – ? – 321 – 20 + 520 = 69894
(1) 3451 (2) 4441
(3) 5401 (4) 4531
(5) None of these
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128. 5    6    ?    57    244

(1) 21 (2) 16
(3) 17 (4) 15
(5) buesa l s dksbZ ugha

129. 3    10    21    ?    51
(1) 34 (2) 32
(3) 33 (4) 37
(5) buesa l s dksbZ ugha

130. 5    11    ?    55    117
(1) 21 (2) 27
(3) 23 (4) 25
(5) buesa l s dksbZ ugha

funsZ' k (131 - 135) : uhps fn,  x,  i z' uksa ds mÙkj nsus ds fy,  bl   l kj.kh
dk è; kui woZd v?; ; u dhft , A

Ng fo| kfFkZ; ksa }kj k Ng v yx-v yx fo"k; ksa
esa çkIr  v adksa dk çfr ' kr

fo"k;  v axzst h foKku fgUnh l ekt ' kkL=k ej kBhxf. kr

fo| kFkhZ
(150        

esa l s)
(75               

esa l s)
(125         

esa l s)
(50 
esa l s)

(100            
esa l s) esa l s)

A 74 68 62 68 81 74
B 64 72 82 68 63 66
C 72 84 78 66 77 70
D 78 32 64 70 69 84
E 82 64 84 72 65 60
F 68 72 74 74 83 80

131. i jh{kk esa i kl  gksus ds fy,  vaxzst h esa U; wure 54 vkSj foKku esa U; wure
93 vad i kuk t : jh gS rks i jh{kk esa fdrus fo| kFkhZ i kl  gq,  gSa \

(1) , d (2) pkj

(3) nks (4) rhu

(5) buesa l s dksbZ ugha

132. l Hkh fo"k; ksa esa feykdj fdl  fo| kFkhZ dks l okZfèkd vad feys gSa \
(1) F (2) E
(3) B (4) C
(5) buesa l s dksbZ ugha

133. l Hkh fo| kfFkZ; ksa }kjk feykdj fgUnh esa i zkIr vkSl r vad fdrus gSa\
(n' keyo ds ckn nks vadksa rd i w.kk±fdr)
(1) 35.02 (2) 32.68
(3) 31.33 (4) 30.83
(5) buesa l s dksbZ ugha

134. l Hkh fo"k; ksa esa feykdj F dks i zkIr vadksa dk l exz i zfr ' kr fdruk gS\
(1) 74 (2) 72
(3) 75 (4) 78
(5) buesa l s dksbZ ugha

135. B dks xf.kr vkSj l ekt ' kkL=k esa feykdj dqy fdrus vad feys gSa\
(1) 153 (2) 159
(3) 146 (4) 149
(5) buesa l s dksbZ ugha

funsZ' k (136-140) : uhps fn,  x,  l ehdj.kksa esa i z' u fpUg~ (?) ds LFkku i j
D; k vkl Uu eku vk; sxk\

136. 447.75 28 4.99 ?  
(1) 60 (2) 70
(3) 72 (4) 80
(3) 75

137.  23.5 19.25 ? 275  

(1) 15 (2) 20
(3) 30 (4) 28
(5) 40

138. 225 dk 85% 32.91 5.01 ?  

(1) 340 (2) 355
(3) 375 (4) 345
(5) 370

139.  215.96 285  dk 75% = ?

(1) 435 (2) 485
(3) 440 (4) 420
(5) 470

140. 1679 14.95 5.02 ?  
(1) 540 (2) 525
(3) 545 (4) 565
(5) 520

funsZ' k (141-45) : fuEufyf[ kr i z' uksa esa i z' ufpUg (?) ds LFkku i j D; k
vk, xk\

141.    47 588 28 120 ?   

(1) 6.284 (2) 7.625
(3) 8.225 (4) 8.285
(5) buesa l s dksbZ ugha

142. 224 dk 45% × 120 dk ?% = 8104.32
(1) 67 (2) 62
(3) 59 (4) 71
(5) buesa l s dksbZ ugha

143.  37921 51 374 ?  

(1) 16 (2) 19
(3) 15 (4) 21
(5) buesa l s dksbZ ugha

144.  26573 21 0.2 ?  

(1) 7825 (2) 62.6
(3) 1565 (4) 12.52
(5) buesa l s dksbZ ugha

145. 74158 – ? – 321 – 20 + 520 = 69894
(1) 3451 (2) 4441
(3) 5401 (4) 4531
(5) buesa l s dksbZ ugha
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GENERAL AWARENESS

152. Expand the term of NREGA
(1) National Rural Employment Guarantee Agency
(2) National Rural Electrification Governing Agency
(3) National Rural Employment Guarantee Act
(4) New Rural Employment Guarantee Agency
(5) None of these

153. Amongst the following sectors, which sector/segment
has shown the highest percent growth in the current
fiscal?
(1) Mining
(2) Manufacturing
(3) Electricity, gas and water supply
(4) Banking and Finance
(5) None of these

154. Which one of the following decisions taken by the RBI
will promote the concept of financial inclusion in the
country?
(1) To appoint some additional entities as business

correspondents
(2) To collect reasonable service charges from the

customer in a transparent manner for providing the
services

(3) To ask the banks to open atleast 50 new accounts
daily in non serviced areas

(4) Only (1) and (2)
(5) None of these

155. Which of the following countries has conferred the
honour of “Legion d’ honneur” on Bharat Ratna Lata
Mangeshkar?
(1) Germany (2) Norway
(3) Japan (4) United Kingdom
(5) Franch

156. The market in which long term securities such as stocks
and bonds are bought and sold is commonly known as
(1) Commodities Exchange
(2) Capital Market
(3) Bull Market
(4) Bullion Market
(5) None of these

157. Which one of the following is/are implication(s) of large
inflow of foreign exchange into the country?
(1) It makes monetary management difficult for RBI.
(2) It creates money supply, asset bubbles and

inflation
(3) It weakens the competitiveness of Indian exports
(1) Only (1) (2) Only (2)
(3) Only (3) (4) Only (1) and (3)
(5) All 1, 2 and 3

146. Which of the following issues cannot come under the
purview of the functioning of the Human Rights
Commission of a country?
(1) Racial Discrimination
(2) Treatment to Prisoners of War
(3) Human Trafficing
(4) Child Abuse
(5) Climate Migration

147. Many a time we read in the newspapers the RBI has
changed or revised a particular ratio/rate by a few basis
points. What is basis point?
(1) Ten percent of one hundredth point
(2) One hundredth of 1%
(3) One hundredth of 10%
(4) Ten percent of 1000
(5) None of these

148. If you see a big hoarding at a prominent public place,
the punch line of which ways “We All Were Born Free”.,
“We All Have Equal Right”, in all probability, the hoarding
is put up by
(1) National Commission for Farmers
(2) National Human Rights Commission
(3) Directorate of Income Tax
(4) Ministry of Foreign Affairs
(5) Union Public Service Commission.

149. Amongst the following, which one of the following
sectors provides the highest contribution in Industrial
Production Index?
(1) Crude Oil
(2) Petro Refinery Products
(3) Electricity
(4) Coal
(5) None of these

150. Which one of the following will be the first High Court in
India, to implement the concept of ‘ecourts’?
(1) Delhi
(2) Arunachal Pradesh
(3) Chennai
(4) Kolkata
(5) None of these

151. The availability of cash and other cash like marketable
instrument that are useful in purchases and investments
are commonly known as
(1) Cash crunch (2) Liquidity
(3) Credit (4) Market ability
(5) None of these
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l kekU;  l kpsr rk

152. NREGA ' kCn dk i w.kZ : i  crk, a

(1) National Rural Employment Guarantee Agency
(2) National Rural Electrification Governing Agency
(3) National Rural Employment Guarantee Act
(4) New Rural Employment Guarantee Agency

(5) buesa l s dksbZ ugha

153. fuEu esa l s fdl  {ks=k@[ kaM us pkyw o"kZ esa l okZf/ d i zfr' kr òf¼ n' kkZbZ gS\

(1) [ kuu

(2) fofuekZ.k

(3) fct yh] xSl  vkSj t y vki wfrZ

(4) cSafdax , oa foÙk

(5) buesa l s dksbZ ugha

154. Hkkjrh;  fjt oZ cSad }kjk fy; k x; k fuEu esa l s dkSu&l k fu.kZ;  ns' k esa
foÙkh;  l ekos' ku dh vo/ kj.kk dks  c<+kok nsxk\

(1) dqN vfrfjDr l aLFkkuksa dks fct usl  dkjl i kSaMsaV ds : i  esa fu; qDr
djuk

(2) l sok nsus ds fy,  xzkgd l s i kjn' khZ rjhds l s ; Fkksfpr l sok i zHkkj
ol wy djuk

(3) fcuk dsok okys {ks=kksa esa jkst kuk de l s de 50 u,  [ kkrs [ kksyus
ds fy,  cSadksa dks dguk

(4) dsoy (1) , oa (2)

(5) buesa l s dksbZ ugha

155. Hkkjr jRu yrk eaxs' dj dks “Legion d’ honneur” l Eeku fuEu esa
l s fdl  ns' k us fn; k gS\

(1) t eZuh (2) ukWosZ

(3) t ki ku (4) U. K.

(5) Úkal

156. ft l  i zdkj esa LVkWd vkSj ckW.M t Sl h nh?kZof/  i zfrHkwfr; ka  csph vkSj
[ kjhnh t krh gSa] ml s l kekU; r% ----- dgrs gSaA

(1) deksfMVh , Dl psat (2) dSfi Vy ekdsZV

(3) cqy ekdsZV (4) cqfy; u ekdsZV

(5) buesa l s dksbZ ugha

157. ns' k esa fons' kh eqnzk ds cM+s vUrokZg dk i zHkko fuEu esa l s dkSu&l k ( l s)
gS (gSa)\

(1) bl l s Hkkjrh;  fjt oZ cSad ds fy,  ekSfnzd i zca/ u dfBu gks t krk gSA

(2) ; g euh l IykbZ] , l saV cCcy vkSj eqnzkLi Qhfr i Snk djrk gSA

(3) ; g Hkkjrh;  fu; kZr dh i zfrLi / kZRedrk dks det ksj cukrk gSA

(1) dsoy (1) (2) dsoy (2)

(3) dsoy  (3) (4) dsoy (1) vkSj (3)

(5) 1, 2 vkSj 3 l Hkh

146. fuEu esa l s dkSu l s eqís fdl h ns' k ds ekuo vf/ dkj vk; ksx dh dk; Z

i z.kkyh ds {ks=k ds vUrxZr ugha vkrs gSaA\

(1) t krh;  HksnHkko

(2) ; q¼ cafn; ksa ds l kFk O; ogkj

(3) áweu VªSfi Qfdax

(4) cky mRi hM+u

(5) DykbesV ekbxzs' ku

147. cgqr ckj ge v[ kckjksa esa i <+rs gSa fd Hkkjrh;  fjt oZ cSad us fdl h

vuqi kr@nj esa dqN vk/ kj fcUnqvksa dk i fjorZu ; k l a' kks/ u fd; k gSA
vk/ kj fcanq D; k gksrk gS\

(1) , d l kS fcanq dk nl  i zfr ' kr

(2) 1 i zfr ' kr dk l kSaok fgLl k

(3) 10 i zfr ' kr dk l kSaok fgLl k

(4) 1]000 dk nl  i zfr ' kr

(5) buesa l s dksbZ ugha

148. ; fn vki  fdl h i zeq[ k l koZt fud LFkku i j , d cM+k gksfM±x ns[ ksa

ft l dh i ap ykbu gks

"We All Were Born Free"; "We All Have Equal Rights",
rks i wjh l aHkkouk gS fd gksfM±x ----------us yxkbZ gksxhA

(1) jk"Vªh;  fdl ku vk; ksx

(2) jk"Vªh;  ekuo vf/ dkj vk; ksx

(3) vk; dj funs' kky;

(4) fons' k ea=kky;

(5) l a?k yksd l sok vk; ksx

149. fuEu esa l s dkSu&l k {ks=k vkS| ksfxd mRi knu l wpdkad esa l okZf/ d

; ksxnku nsrk gS\

(1) dPpk rsy (2) i sVªksfji Qkbujh mRi kn

(3) fct yh (4) dks; yk

(5) buesa l s dksbZ ugha

150. b̂Z&dksV* dh vo/ kj.kk dks ykxw djus okyk Hkkjr dk i gyk mPp

U; k; ky;  fuEu esa l s dkSu&l k gksxk\

(1) fnYyh (2) vkaa/ z i zns' k

(3) psUubZ (4) dksydkrk

(5) buesa l s dksbZ ugha

151. udnh vkSj udnh t Sl s vU;  foi .ku ; ksX;  fy[ krsa t ks Ø;  vkSj fuos' k

ds fy,  mi ; ksxh gksrh gSa] mudh mi yC/ rk dks l kekU; r% -------dgrs gSa\

(1) dS' k Øap (2) pyfuf/

(3) l k[ k (4) foi .ku; ksX; rk

(5) buesa l s dksbZ ugha
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158. Chinese objections have stalled the road work at the

village of Demchok, on the Indian side of the line of
control. Which one of the following states is this village
located?
(1) Arunachal Pradesh
(2) Assam
(3) Himachal Pradesh
(4) Rajasthan
(5) None of these

159. Which one of the following companies is the largest
producer of natural gas in the country?
(1) ONGC (2) OIL
(3) Cairn India (4) RIL
(5) None of these

160. Which one of the following is the objective of the flagship
scheme ‘Rashtriya Swasthya Bima Yojana’ (RSBY)?
(1) To provide life insurance cover to rural households
(2) To provide health insurance cover to rural

households
(3) To provide both life and health insurance cover to

rural household
(4) To provide life and health insurance covers only to

people living below poverty line
(5) None of these

161. The process of disinvestment of profitable public sector
units will be used for which of the following purposes?
(1) Expansion of existing capacity of PSEs
(2) Modernisation of PSEs
(3) Opening of new PSEs
(4) Meeting the expenditure for various social sector

schemes
(5) None of these

162. Which of the following books is written by Chetan
Bhagar?
(1) The Golden Gate
(2) A House for Mr. Biswas
(3) 2 States
(4) White Tiger
(5) None of these

163. Constitutionally, which one of the following can levy
Service Tax?
(1) Union Govt. only
(2) State Govt. only
(3) Union Territory Govt. only
(4) All of these
(5) None of these

164. Citizens of which one of the following age-groups (in
years) are covered under the New pension System
(NIPS)?
(1) 18 - 50 (2) 21 - 55
(3) 25 - 55 (4) 18 - 60
(5) None of these

165. Well known Dada Saheb Phalke award is given for
excellence in the field of
(1) Sports
(2) Literature
(3) Science and Technology
(4) Social Service
(5) None of these

166. The organisation of South East Asian Nations is called
(1) OPEC (2) SAPTA
(3) NATO (4) UNCTAD
(5) ASEAN

167. Who among the following is the author of the book
‘Termites in the Trading System’?
(1) M. S. Swaminathan
(2) Jagdish Bhagwati
(3) Jawant Singh
(4) M. Chelapati Rao
(5) None of these

168. Reserve Mortgage scheme was initiated by some
organisations/institutions some years ago. It was
started to help which of the following class/group of the
society?
(1) Beneficiaries of NREGA
(2) People living below poverty line
(3) Youths
(4) Senior Citizens
(5) None of these

169. In the sport of Football, which of the following term is
used?
(1) Caddi (2) Cut back
(3) Mid-on (4) Luv
(5) None of these

170. Which of the following is a nonfood crop?
(1) Wheat (2) Maize
(3) Bajra (4) Rice
(5) Jute

171. Which of the following is not included in the core sectors
of Indian economy?
(1) Transport (2) Coal
(3) Steel (4) Cement
(5) Electricity

172. As we all known India has a three-tier structure of tax
administration. There are taxes levied by Central
Governments, State Governments and Local
Governments. Which of the following taxes is levied by
the Local Government Bodies?
(1) Value Added Tax (2) Stamp Duty
(3) Service Tax (4) Land Revenue
(5) Tax on water supply and drainage etc.
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158. phu dh vki fÙk l s fu; a=k.k js[ kk dh Hkkjrh;  r ji Q MsepkWd xkao esa
l M+d dk dke #d x; k gSA ; g jkT;  fuEu esa l s fdl  jkT;  esa gS\

(1) v#.kkpy i zns' k (2) vl e

(3) fgekpy i zns' k (4) jkt LFkku

(5) buesa l s dksbZ ugha

159. fuEu esa l s dkSu l h dai uh ns' k esa i zkdf̀rd xSl  dh l cl s cM+h mRi knd
gS\

(1) ONGC (2) OIL

(3) dSju bafM; k (4) RIL

(5) buesa l s dksbZ ugha

160. i zeq[ k ; kst uk ‘jk"Vªh;  LokLF;  chek ; kst uk’ (RSBY) dk mís' ;  fuEu
esa l s dkSu&l k gS\

(1) xzkeh.k i fjokjksa dks t hou chek l qj{kk nsuk

(2) xzkeh.k i fjokjksa dks LokLF;  chek l qj{kk nsuk

(3) xzkeh.k i fjokjksa dks t hou vkSj LokLF;  chek l qj{kk nksuksa nsuk

(4) dsoy xjhch js[ kk l s uhps jg jgs yksxksa dks t hou vkSj LokLF;
chek l qj{kk nsuk

(5) buesa l s dksbZ ugha

161. l koZt fud {ks=k dh ykHki zn bdkb; ksa ds fofuos' k dh jkf' k dk i z; ksx
fuEu esa l s fdl  i z; kst u ds fy,  fd; k t k, xk\

(1) PSEs dh ekSt wnk {kerk dk foLrkj

(2) PSEs dk vk/ qfudhdj.k

(3) u,  PSEs [ kksyuk

(4) l kekft d {ks=k dh fofHkUu ; kst ukvksa ds [ kpZ i wjs djuk

(5) buesa l s dksbZ ugha

162. psru Hkxr us fuEu esa l s dkSu&l h i qLrd fy[ kh gS\

(1) n xksYMu xsV

(2) v gkml  i QkWj feLVj foLokl

(3) 2 LVsV~l

(4) OgkbV Vkbxj

(5) buesa l s dksbZ ugha

163. l afo/ kukuql kj fuEu esa l s l sok i zHkkj dkSu yxk l drk gS\

(1) dsoy l a?k l jdkj

(2) dsoy jkT;  l jdkj

(3) dsoy l a?k {ks=k dh l jdkj

(4) ; s l Hkh

(5) buesa l s dksbZ ugha

164. fuEu esa l s fdl  vk; q (o"kks± esa) ds ukxfjd u,  i sa' ku fl LVe (NIPS)
esa vkofjr gSa?
(1) 18 - 50 (2) 21 - 55
(3) 25 - 55 (4) 18 - 60
(5) 18 - 65

165. i zfl ¼ nknk l kgsc i QkYds i qjLdkj ----------------- ds {ks=k esa mRd"̀Vrk ds
fy,  fn; k t krk gS\

(1) [ ksy (2) l kfgR;

(3) foKku , oa i zkS| ksfxdh (4) l ekt  l sok

(5) buesa l s dksbZ ugha

166. nf{k.k i woZ , f' k; kbZ ns' kksa ds l axBu dks ----------------dgrs gSaA

(1) OPEC (2) SAPTA
(3) NATO (4) UNCTAD
(5) ASEAN

167. fdrkc ‘VekZbV~l  bu fn VªsfMax fl LVe’ dk ys[ kd fuEufyf[ kr esa l s dkSu
gSa?

(1) , e- , l - LokehukFku

(2) t xnh' k Hkxorh

(3) t l oar fl ag

(4) , e- psyki fr jko

(5) buesa l s dksbZ ugha

168. fjol Z ekVZxst  ; kst uk dqN o"kZ i gys dqN l aLFkkvksa }kjk vkjaHk dh xbZ
FkhA ; g dke l ekt  ds fuEu esa l s fdl  oxZ dh l gk; rk ds fy,  fd; k
x; k Fkk\

(1) NREGA ds ykHkkFkhZ

(2) xjhch js[ kk l s uhps jgus okys yksx

(3) ; qod

(4) ofj"V ukxfjd

(5) buesa l s dksbZ ugha

169. i qqqQVckWy ds [ ksy esa fuEufyf[ kr esa l s fdl  ' kCn dk i z; ksx gksrk gS\

(1) dSMh (2) dVcSd

(3) feM&vkWu (4) yo

(5) buesa l s dksbZ ugha

170. fuEu esa l s fdl s xSj [ kk|  i Ql y ekuk t krk gS\

(1) xsgw¡ (2) eDdk

(3) ckt jk (4) pkoy

(5) t wV

171. Hkkjrh;  vFkZO; oLFkk ds eq[ ;  (dksj)  {ks=kksa esa fuEu esa l s dkSu&l k ugha
gS\

(1) i fjogu (2) dks; yk

(3) LVhy (4) l hesaV

(5) fct yh

172. t Sl k fd ge l Hkh t kurs gSa fd Hkkjr esa dj&i z' kkl u dk f=k&Lrjh;
<kapk gSA dsUnz l jdkj] jkT;  l jdkjsa vkSj LFkkuh;  l jdkjsa dj yxkrh
gSaA LFkkuh;  l jdkj fudk;  fuEu esa dkSu&l k dj yxkrs gSa\

(1) ewY;  ; ksft r dj (2) LVkEi  ' kqYd

(3) l sok dj (4) Hkw&jkt Lo

(5) t y vki wfrZ , oa Msªust  vkfn
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173. Many times we see a term ‘PPP’ in f inancial

newspapers. One ful form of it is ‘Private Public
Partnership’. What is another version of the same also
used in the financial world?
(1) Perfect, Preferred and Protected
(2) Point to Point Protocol
(3) Power Point Presentation
(4) Purchasing Power Parity
(5) None of these

174. Which of the following is one of the most successful
programmes under Bharat Nirman?
(1) Pradhan Manti Gram Sadak Yojana
(2) Watershed Development Scheme
(3) Rajiv Gandhi Grameen Vidyutikaran Yojana
(4) Indira Awas Yojana
(5) None of these

175. Many times we hear about the “Banking Ombudsman”.
What is/are the major roles of same
(1) Banking Ombudsman is a quasijudicial authority

having powers to summon, the banks and the
customers both in case of dispute.

(2) The Banking Ombudsman are appointed by the
President of India and are retired judges of the High
or Supreme Courts.

(3) The decisions/judgements given by the banking
Ombudsman cannot be taken to any court of justice
as their decisions are last in case of bank related
problems/disputes.

(1) Only 1 (2) Only 2
(3) Only 3 (4) All 1, 2 and 3
(4) None of these

176. Which of the following countries is planning to launch
its first Mars probe in near future?
(1) China (2) Japan
(3) India (4) Russia
(5) USA

177. Dr. Manmohan Singh is the member of the parliament
from which of the following constituencies?
(1) New Delhi (South)
(2) Amritsar
(3) Lucknow
(4) Medak
(5) None of these

178. ‘Mardeka Cup’ is associated with game of
(1) Hockey (2) Golf
(3) Football (4) Badminton
(5) Lawn Tennis

179. Who amongst the following is the author of the book
“Faith and Compassion”?
(1) Arun Gandhi (2) Kuldeep Nayyar
(3) Amit Chaudhury (4) Navin Chawla
(5) None of these

180. Pankaj Advani has become the world’s professional
champion player of
(1) Badminton (2) Tennis
(3) Golf (4) Chess
(5) None of these

181. The letter ‘D’ stands for which of the following in the
abbreviated name OECD? (Organisation of Economic
Cooperation and.......)
(1) Defence (2) Direction

(3) Dominance (4) Development
(5) Devaluation

182. Many a times we read about Fertility Rate in economic
literature. What is fertility Rate?
(a) The total number of children born in a country in a

given year divided by number of children died
(b) The number of children born to an average woman

during her reproductive years
(c) The number of births in a country divided by total

population in a given year
(d) The number of women in the age group of 15-45 years

in a country divided by total number of women died
during child birth

(e) None of these
183. How is dual economy distinguished from other economies?

It is a mixture of–
(a) industrial sector and manufacturing sector
(b) traditional agricultural sector and a modern industrial

sector
(c) state ownership of the means of production in

cooperation of foreign organizations
(d) industrial sector and trading of goods obtained through

imports
(e) None of these

184. Contribution to Prime Minister's relief fund enjoys Income
Tax benefit up to–
(a) 50% under section 80G
(b) 75% under section 80G
(c) 100% under section 80G
(d) 10% under section 88
(e) No exemption is available

185. Which of the following activities are expected to be
performed by the Business correspondents? (a)
Disbursal of small value credit
(b) Collection of small value deposits
(c) Sale of micro insurance / mutual fund products
(d) All the three above
(e) Only (b) and (c) above

186. Securitisation and Reconstruction of Financial Assets and
Enforcement of security Interest Act relates to–
(a) Sanction of loans
(b) Enhancement of loan limits
(c) Recovery of loans
(d) All the above
(e) None of above

187. MSMED Act is applicable to–
(a) Smalls enterprises only
(b) Medium enterprises only
(c) Micro enterprises only
(d) Micro, Small and Medium enterprises
(e) All enterprises irrespective of their size engaged in

manufacturing activity
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173. foÙkh;  l ekpkj i =kksa esa gesa cgqr ckj ‘PPP’ ' kCn fn[ kkbZ nsrk gSA bl dk

, d i w.kZ : i  î zkbosV i fCyd i kVZujf' ki * gSA foÙkh;  t xr esa i z; qDr gksus
okyk nwl jk : i  dkSu&l k gS\
(1) Perfect, Preferred and Protected
(2) Point to Point Protocol
(3) Power Point Presentation
(4) Purchasing Power Parity
(5) buesa l s dksbZ ugha

174. Hkkjr fuekZ.k ds vUrxZr l okZf/ d l i Qy dk; ZØe fuEu esa l s dkSu&l k gS\
(1) i z/ kuea=kh xzke l M+d ; kst uk
(2) okVj' ksM Msoyi esaV Ldhe
(3) jkt ho xka/ h xzkeh.k fo| qrhdj.k ; kst uk
(4) bafnjk vkokl  ; kst uk
(5) buesa l s dksbZ ugha

175. ge cgqr ckj ĉSaafdax yksdi ky* ds ckjs esa l qurs gSaA bl dh i zeq[ k Hkwfedk
(, )  D; k gS(gSa)\
(1) cSafdax yksdi ky , d v/ ZU; kf; d i zkf/ dj.k gS vkSj ml s fookn

dh fLFkfr esa cSadksa vkSj xzkgdksa nksuksa dks cqykus dh ' kfDr i zkIr gSA
(2) cSafdax yksdi ky dh fu; qfDr jk"Vªi fr }kjk dh t krh gS vkSj bl  i j

mPp vkSj mPpre U; k; ky;  ds l sokfuòÙk t t  fu; qDr gksrs gSaA
(3) cSafdax yksdi ky }kjk fd,  x,  fu.kZ; ksa dks fdl h vnkyr esa ugha

ys t k; k t k l drk D; ksafd cSad l aca/ h l eL; kvksa@fooknksa esa muds
fu.kZ;  vafre gksrs gSaA

(1) dsoy 1 (2) dsoy 2
(3) dsoy 3 (4) 1, 2 o 3 l Hkh
(4) buesa l s dksbZ ugha

176. fuEu esa l s dkSu&l k ns' k fudV Hkfo";  esa v i uk i gyk ekl Z i zksc NksM+us
dh ; kst uk cuk jgk gS\
(1) phu (2) t ki ku
(3) Hkkjr (4) : l
(5) USA

177. MkW- eueksgu fl ag fuEufyf[ kr esa l s fdl  ernku&{ks=k l s l al n l nL;  gSa\
(1) ubZ fnYyh (nf{k.k) (2) vèrl j
(3) y[ kuÅ (4) esMd
(5) buesa l s dksbZ ugha

178. êMsZdk di * dk l aca/  ------- ds [ ksy l s gSA
(1) gkWdh (2) xksYi Q
(3) i qQVckWy (4) cSMfeaVu
(5) ykWu Vsful

179. î sQFk , aM dEi S' ku* i qLrd dk ys[ kd fuEu esa l s dkSu gS\
(1) v#.k xka/ h (2) dqynhi  uSÕ; j
(3) vfer pkS/ jh (4) uohu pkoyk
(5) buesa l s dksbZ ugha

180. i adt  vMok.kh---------- dk fo' o dk i zksi Qs' kuy pSfEi ; u f[ kykM+h cu
x; k gSA
(1) cSMfeaVu (2) Vsful
(3) xksYi Q (4) ' kr jat
(5) buesa l s dksbZ ugha

181. OECD  (Organisation of Economic Cooperation
and.......) l af{kIrk{kj esa 'D' v{kj l s cuus okyk ' kCn fuEu esa l s
dkSu&l k gS\
(1) Defence (2) Direction
(3) Dominance (4) Development
(5) Devaluation

182- vkfFkZd l kfgR;  esa ge cgqr ckj i QfVZfyVh nj ds ckjs esa i <+rs gSa
i QfVZfyVh nj D; k gS\
(a) fn,  x,  o"kZ esa fdl h ns' k es t Uesa cPpksa dh dqy l a[ ; k dks

er̀ cPpksa dh l a[ ; k l s foHkkft r djuk
(b) fdl h vkSl r efgyk dks ml ds i zt uu' khy o"kks± esas t Uesa cPpksa

dh l a[ ; k
(c) fn,  x,  o"kZ esa fdl h ns' k esa t Ueksa dh l a[ ; k dks dqy

t ul a[ ; k l s foHkkft r djuk
(d) fdl h ns' k esa 15&45 o"kZ ds vk; q l ewg dh efgykvksa dh

l a[ ; k dks i zl wfr ds nkSjku er̀ efgykvksa dh dqy l a[ ; k l s
foHkkft r djuk

(e) buesa l s dksbZ ugha
183- nksgjh vFkZO; oLFkk vU;  vFkZ&O; oLFkkvksa l s fHkUu dSl s gksrh gS\  ; g

----------- dk feJ.k gSA
(a) vkS| ksfxd {ks=k vkSj fofuekZ.k {ks=k
(b) i kjEi fjd df̀"k {ks=k vkSj vk/ qfud vkS| ksfxd {ks=k
(c) fons' kh l aLFkkvksa ds l g; ksx esa mRi knu l k/ uksa dk jkT;  dk

LokfeRo
(d) vkS| ksfxd {ks=k vkSj vk; kr l s i zki r oLrqvksa dk O; ki kj
(e) buesa l s dksbZ ugha

184- i z/ kuea=kh jkgr dks"k esa ; ksxnku vk; dj NwV dh l qfo/ k nsrk gS&
(a) / kjk 80t h ds vUrxZr 50%
(b) / kjk 80t h ds vUrxZr 75%
(c) / kjk 80t h ds vUrxZr 100%
(d) / kjk 88t h ds vUrxZr 100%
(e) dksbZ NwV ugha nh t krh

185- O; kol kf; d i zfrfuf/  (Business Correspondent) l s fuEu esa l s
fdl  fØ; k&dyki  dh vk' kk dh t krh gS\
(a) NksVs ½.kksa dk vkoaVu
(b) NksVh jkf' k; ksa dk l axzg.k
(c) ekbØks ba' ; ksjsal @E; wpqvy i QaM dh fcØh
(d) mi ; qZDr rhuksa
(e) mi ; qZDr (b) vkSj (c)

186- fl D; ksfjVkbt s' ku , .M fjdUl VªD' ku vkWi Q i QkbusfU' k; y , l ssV~l
, .M , ui Qksl ZesUV vkWi Q fl D; ksfjVh bUVªsLV , DV dk l EcU/  gS&
(a) ½.k dh l aLrqfr l s (b) ½.k&l hek c<+kus l s
(c) ½.k dh ol wyh l s (d) mi ; qZDr l Hkh
(e) mi ; qZDr esa l s dksbZ ugha

187- , e , l  , e bZ Mh (MSMED) ykxw gksrk gS&
(a) NksVs m| eksa i j (b) eè; e m| eksa i j
(c) ekbØks m| eksa i j
(d) NksVs] eè; e o ekbØks m| eksa i j
(e) fcuk fdl h vkdkj dks ǹf"Vxr fd, ] fuekZ.k esa l ayXu l Hkh

m| eksa i j
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188. Money Laundering refers to–

(a) Conversion of assets into cash
(b) Conversion of Money which is illegally obtained
(c) Conversion of cash into gold
(d) Conversion of gold into cash
(e) None of the above

189. The Monetary and Credit Policy is reviewed by the RBI
after a gap of–
(a) one year (b) one month
(c) two years (d) five years
(e) None of these

190. PPF account is opened for a period of–
(a) 5 years (b) 10 years
(c) 15 years (d) 20 years
(e) None of these

191. Yuan is the currency of–
(a) Japan (b) China
(c) Indonesia (d) Myanmar
(e) None of these

192. National savings certificate matures at the end of–
(a) Six years (b) Three years
(c) Six and half years (d) Five years
(e) Five and half years

193. Normally Bank accept Fixed Deposits for a maximum period
of–
(a) 5 years (b) 3 years
(c) 10 years (d) 20 years
(e) Any number of years

194. Which one of the following is not a salient feature of debit
card?
(a) No bad debts to banks and no suits for recovery
(b) No interest earning for banks
(c) Works like a normal withdrawal
(d) All the above
(e) 45 days credit is given to the card holder

195. IFRS stands for–
(a) International Financial Reporting Standards
(b) Indian Financial Rating Standards

(c) International Financial Rating Standards
(d) All the three above
(e) None of the above

196. What is the full form of ASBA?
(a) Allotment Supported by Blocked Amount
(b) Application Supported by Blocked Amount
(c) Application Supported by Bank Account
(d) Allotment Supported by Bank Account
(e) None of the above

197. Which of the following is not considered as lending under
infrastructure sector?
(a) A Highway project
(b) Construction of Educational Institution
(c) Construction of Hospital
(d) Laying down of petroleum pipelines
(e) None of the above

198. The term 'Power of Attorney' refers to–
(a) Power of a person
(b) An authority to operate a Bank account
(c) An instrument by which a person is empowered to act

for another person
(d) All of the above
(e) None of the above

199. Financial Action Task Force has an office in Indian at which
place?
(a) Mumbai (b) Chennai
(c) Kolkata (d) New Delhi
(e) All the above places

200. Bridge loans refer to–
(a) Loans granted to construction companies for

construction of bridges
(b) Loan granted to PWD for construction of bridges over

Rivers
(c) Interim finance allowed by banks to their customers

pending disbursement of term loans by financial
institutions

(d) all of the above
(e) None of the above

COMPUTER

201. Compatibility in regard to computers refers to ____
(1) the software doing the right job for the user
(2) it being versatile enough to handle the job
(3) the software being able to run on the computer
(4) software running with other previously installed

software
(5) None of the above

202. What is a file?
(1) A file is a section of main storage used to store

data
(2) A file is a collection of information that has been

given a name and is stored in secondary memory
(3) A file is the part of a program that is used to describe

what the program should do
(4) A file is another name for floppy disk
(5) None of the above

203. The____ key and the____key can be used in
combination with other keys to perform shortcuts and

special tasks.
(1) Control, Alt (2) Function, toggle
(3) Delete, Insert (4) Caps Lock, Num Lock
(5) None of the above

204. How is it possible that both programs and data can be
stored on the same floppy disk?
(1) A floppy disk has two sides, one for data and one

for programs
(2) Programs and data are both software, and both

can be stored on any memory device
(3) A floppy disk has to be formatted for one or for the

other
(4) Floppy disks can only store data, not programs
(5) None of the above

205. The primary output device for computers is a ____
(1) video monitor (2) printer
(3) keyboard (4) mouse
(5) None of the above
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188- êuh ykmfUMªax* (Money Laundering) gS&
(a) i fj l Ei fÙk dk i fjorZu
(b) voS/ kfud rjhds l s i zkIr / u dk i fjorZu
(c) dS' k (uxnh)  dk l ksus esa i fjorZu
(d) l ksus dk uxnh esa i fjorZu
(e) mi ; qZDr esa l s dksbZ ugha

189- eSfVªd , oa ½.k uhfr dk Hkkjrh;  fjt +oZ cSad }kjk i qujh{k.k gksrk gS&
(a) , d o"kZ esas (b) , d ekg esa
(c) nks o"kks± esa (d) i k¡p o"kks± ess
(e) buesa l s dksbZ ugha

190- i h i h , i Q (PPF) [ kkrk ------------- o"kks± ds fy,  [ kksyk t krk gS
(a) 5 o"kZ (b) 10 o"kZ
(c) 15 o"kZ (d) 20 o"kZ
(e) buesa l s dksbZ ugha

191- ; wvku eqnzk gS&
(a) t ki ku dh (b) phu dh
(c) b.Mksusf' k; k dh (d) E; kaekj dh
(e) buesa l s fdl h dh ugha

192- jk"Vªh;  cpr i zek.k&i =k dh i fj i Dork dh vof/  gS&
(a) Ng o"kZ (b) rhu o"kZ
(c) l k<+s Ng o"kZ (d) i k¡p o"kZ
(e) l k<+s i k¡p o"kZ

193- l kekU; r% cSad fdruh vof/  ds fy,  l kof/  t ek vkd"̀V djrk gS\
(a) 5 o"kZ (b) 3 o"kZ
(c) 10 o"kZ (d) 20 o"kZ
(e) fdrus Hkh o"kks± ds fy,

194- fuEu esa l s dkSul h M̂sfcV dkMZ* dh eq[ ;  fo' ks"krk ugha gS\
(a) u v ' kksè;  / u] u i zkfIr gsrq eqdnek
(b) cSad gsrq C; kt  ugha
(c) l kekU;  vkgkj.k dh Hkk¡fr dk; Z
(d) mi ; qZDr l Hkh
(e) dkMZ / kjd dks 45 fnuksa dh ½.k l qfo/ k

195- IFRS dk i w.kZ : i  D; k gS\
(a) International Financial Reporting Standards
(b) Indian Financial Rating Standards
(c) International Financial Rating Standards
(d) mi ; qZDr rhuksa (e) buesa l s dksbZ ugha

196- ASBA dk i w.kZ : i  D; k gS\
(a) Allotment Supported by Blocked Amount
(b) Application Supported by Blocked Amount
(c) Application Supported by Bank Account
(d) Allotment Supported by Bank Account
(e) buesa l s dksbZ ugha

197- fuEu esa l s fdl s vk/ kjHkwr l ajpukRed {ks=k ds varxZr fn; k x; k m/
kj ugha l e>k t krk gS\
(a) gkbZos i fj; kst uk (b) f' k{kk l aLFkku dk fuekZ.k
(c) vLi rky dk fuekZ.k(d) i sVªksfy; e i kbi  ykbusa Mkyuk
(e) buesa l s dksbZ ugha

198- î koj vkWi Q vVuhZ* ' kCn dk D; k vFkZ gS\
(a) O; fDr dh ' kfDr
(b) cSad [ kkrs dks i fjpkfyr djus dk i zkf/ dkj
(c) , sl h fy[ kr ft l ds }kjk , d O; fDr dks nwl js O; fDr ds fy,

dk; Z djus dh ' kfDr fey t krh gS
(d) mi ; qZDr l Hkh
(e) buesa l s dksbZ ugha

199- foÙkh;  dk; Zokgh dk; Zcy dk dk; kZy;  Hkkjr esa fdl  LFkku i j gS\
(a) eqEcbZ (b) psUubZ
(c) dksydÙkk (d) ubZ fnYyh
(e) mi ; qZDr pkjksa LFkkuksa i j

200- fczt  yksu dk D; k vFkZ gS\
(a) fuekZ.k dEi fu; ksa dks i qy ds fy,  fn,  x,  ½.k
(b) ufn; ksa i j i qy cukus ds fy,  PWD dks fn,  x,  ½.k
(c) foÙkh;  l aLFkkvksa l s l kof/  ½.kksa ds l aforj.k ds yfEcr jgrs

gq,  cSadksa }kjk v i us xzkgdksa dks vuqer varfje foÙk
(d) mi ; qZDr l Hkh (e) buesa l s dksbZ ugha

dEI; wVj

201. daI;wVj ds laca/k esa dEiSfVfcfyVh dk vFkZ gS ______
(1) lkW¶Vos;j iz;ksDrk ds fy, lgh dke dj jgk gS
(2) ;g tkWc dks gSaMy djus ds fy, dkQh mi;ksxh gS
(3) lkW¶Vos;j daEI;wVj ij ju gksus esa leFkZ gS
(4) lkW¶Vos;j igys ls baLVkYM lkW¶Vos;j ds lkFk ju gks jgk gS
(5) buesa ls dksbZ ugha

202. Qkby D;k gksrh gS \
(1) Qkby MkVk LVksj djus ds fy, iz;qDr eq[; LVksjst dk ,d

Hkkx gksrh gS
(2) Qkby lwpuk dk ,d laxzg gS ftls ,d uke fn;k x;k gksrk

gS vkSj mls lsdsaMjh eseksjh esa LVksj fd;k tkrk gS
(3) Qkby izksxzke dk ,d Hkkx gksrh gS ftls ;g fMLØkbc djus

ds fy, iz;ksx fd;k tkrk gS fd izksxzke dks D;k djuk pkfg,
(4) Qkby ¶ykWih fMLd dk nwljk uke gS
(5) buesa ls dksbZ ugha

203. 'kkWVZdV vkSj fo'ks"k dke djus ds fy, ______ daqth vkSj
______ daqth dk nqljh daqft;ksa ds lkFk dEchus'ku esa iz;ksx

fd;k tk ldrk gSA
(1) daVªksy] vkYV (2) QaD'ku] VkWxy
(3) fMyhV] bUlVZ (4) dWIl ykWd] ue ykWd
(5) buesa ls dksbZ ugha

204. ;g dSls laHko gS fd izksxzke vkSj MkVk nksuksa dks ,d gh ¶ykWih ij
LVksj fd;k tk ldrk gS \
(1) ¶ykWih fMLd esa nks lkbM gksrs gSa] ,d MkVk ds fy, ,d

izksxzke ds fy,
(2) izksxzke vkSj MkVk nksuksa lkW¶Vos;j gSa vkSj nksuksa dks fdlh Hkh

eseksjh fMokbl ij LVksj fd;k tk ldrk gS
(3) ¶ykWih fMLd dks ,d nwljs ds fy, QkjesV djuk iM+rk gS
(4) ¶ykWih fMLd dsoy MkVk LVksj dj ldrh gS] izksxzke ugha
(5) buesa ls dksbZ ugha

205. daI;wVj ds fy, izkbejh vkmViqV fMokbl dkSu lh gS \
(1) ohfM;ks ekWfuVj (2) fizaVj
(3) dh&cksMZ (4) ekml
(5) buesa ls dksbZ ugha
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206. The name of the location of a particular piece of data is

its ____
(1) address (2) memory name
(3) storage site (4) data location
(5) None of the above

207. Two different files can have the same name if ____
(1) they are in different folders
(2) they are on different drives
(3) they are on the same drive
(4) they are in same folder
(5) both (1) and (2)

208. A device that is connected to the motherboard is ____
(1) called an external device
(2) called an adjunct device
(3) called a peripheral device
(4) must connect using ribbon cable
(5) None of the above

209. The first computers were programmed using ____
(1) assembly language(2) machine language
(3) spaghetti code (4) source code
(5) None of the above

210. Documentation of computer programs is important so
that ____
(1) users can learn how to use the program
(2) other programmers can know how to maintain the

program
(3) the programmer can see why the code is written

that way while hunting for source of error
(4) All of the above
(5) None of the above

211. Provide the means to move the pointer on the screen
and give information to the computer by clicking its
buttons ____
(1) scanner (2) mouse
(3) keyboard (4) program
(5) None of the above

212. When you cut or copy information it gets place in the
____
(1) Clipart (2) Clipboard
(3) Internet (4) Motherboard
(5) None of the above

213. Secondary storage ____
(1) does not require constant power
(2) does not use magnetic media
(3) consists of four main types of devices
(4) does not store information for later retrieval
(5) None of the above

214. A device that provides emergency power to your
computer, conditions the voltage, and protects against
powers surges is called a____
(1) PSU = Power Supply Unit
(2) USP = Universal Surge Protector
(3) UPPS = Universal Power Protection and Supply
(4) UPS = Uninterruptible Power Supply
(5) None of the above

215. Deleted data remains on a disk until ____
(1) the data is overwritten
(2) the recycle bin is emptied
(3) a file compression utility is used
(4) the disk is scanned
(5) None of the above

216. Output which is made up of pictures, sounds, and video
is called ____
(1) COM (2) hard copy
(3) graphics (4) multimedia
(5) None of the above

217. Several computers linked to a server to share programs
and storage space ____
(1) Network (2) grouping
(3) library (4) integrated system
(5) None of the above

218. A prescribed set of well-defined instructions for solving
mathematical problems is called ____
(1) a compiler (2) a code
(3) a description (4) an algorithm
(5) None of the above

219. The process of preparing a floppy diskette for use is
called ____
(1) assembling (2) translating
(3) parsing (4) formatting
(5) None of the above

220. LAN stands for ____
(1) Local Access Network
(2) Local Area Network
(3) Logical access network
(4) Logical Area Network
(5) None of the above

221. A Field is a related group of ____
(1) Records (2) Files
(3) Characters (4) Cables
(5) None of the above

222. Meaningful filename helps in easy file ____
(1) Storing (2) Accessing
(3) Identification (4) Printing
(5) None of the above

223. To restart the computer ____ key is used.
(1) Del + Ctrl (2) Backspace + Ctrl
(3) Ctrl + Alt + Del (4) Reset
(5) None of the above

224. Housing all hardware, software, storage, and processing
in one site location is called ____
(1) time-sharing
(2) a distributed system
(3) centralized processing
(4) A host computer
(5) None of the above

225. A computer works on a ____ number system.
(1) binary (2) octal
(3) decimal (4) hexadecimal
(5) None of the above

226. A record is related to a file, as a statement is related to
a ____
(1) procedure (2) file
(3) program (4) data
(5) None of the above

227. Soft copy refers to ____
(1) printed output (2) music sounds
(3) screen output (4) digitizing
(5) None of the above
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206. MkVk ds fdlh [kkl VqdM+s dh yksds'ku dk uke bldk _____ gksrk gSA

(1) ,Mªsl (2) eseksjh use
(3) LVksjst lkbV (4) MkVk yksds'ku
(5) buesa ls dksbZ ugha

207. nks fHkUu-fHkUu Qkbyksa dk ,d gh uke gks ldrk gS] ;fn ______
(1) os vyx-vyx QksYMjksa esa gksa
(2) os vyx-vyx Mªkbo esa gksa
(3) dHkh ugha
(4) ukeksa ds vyx-vyx <ax ls cM+s v{kj fy[ks tk,a
(5) (1) ;k (2)

208. tks fMokbl enjcksMZ ls tqM+h gS og ______
(1) ,DlVuZy fMokbl dgykrh gS
(2) ,M~taDV fMokbl dgykrh gS
(3) isfjQsjy fMokbl dgykrh gS
(4) fjcu dscy dk iz;ksx djrs gq, dusDV gksuh pkfg,
(5) buesa ls dksbZ ugha

209. igys ______ dk iz;ksx djds daI;wVjksa dks izksxzke fd;k tkrk
FkkA
(1) ,lsEcyh ySaXost (2) e'khu ySaXost
(3) Lis?ksVh dksM (4) lkslZ dksM
(5) buesa ls dksbZ ugha

210. daI;wVj izksxzkeksa dh MkdqesaVs'ku egŸoiw.kZ gS rkfd ______
(1) iz;ksDrk lh[k ldsa fd izksxzke dk iz;ksx dSls djuk gS
(2) nwljs izksxzkej tku ldrs gSa fd izksxzke dks esuVsu dSls djuk gS
(3) xyrh ds lzksrksa dk irk yxkrs le; izksxzkej ns[k ldrk gS

fd dksM ml rjg ls D;ksa fy[kk x;k gS
(4) mijksDr lHkh (5) buesa ls dksbZ ugha

211. blls LØhu ij IokbaVj dks ewo dj ldrs gS vkSj blds cVuksa dks
fDyd djds daI;wVj dks lwpuk ns ldrs gS-
(1) LdSuj (2) ekml
(3) dh&cksMZ (4) izksxzke
(5) buesa ls dksbZ ugha

212. tc vki lwpuk dks dV ;k dkih djrs gSa] rks ;g ______ esa
txg izkIr djrh gS
(1) fDyikVZ (2) fDyicksMZ
(3) baVjusV (4) enjcksMZ
(5) buesa ls dksbZ ugha

213. lsdsaMjh LVksjst ______
(1) dks yxkrkj fctyh dh t:jr ugha gksrh
(2) eSXusfVd ehfM;k dk iz;ksx ugha djrh
(3) esa pkj eq[; izdkj dh fMokblsa gksrh gSa
(4) ckn esa fjVªho djus ds fy, lwpuk dks LVksj ugha djrh
(5) buesa ls dksbZ ugha

214. ml fMokbl dks D;k dgrs gSa tks daI;wVj dks bejtsalh ikoj nsrh gS]
oksYVst dk vuqdwyu djrh gS] c<+h gqbZ fctyh ls lqjf{kr djrh gS
(1)  PSU = ikoj lIykbZ ;qfuV
(2)  USP = ;wfuolZy ltZ izksVSDVj
(3) UPPS = ;wfuolZy ikoj izksVsD'ku
(4) UPS = vubaVªfIVcy ikoj lIykbZ
(5) buesa ls dksbZ ugha

215. fMyhV fd;k gqvk MkVk fMLd ij jgrk gS tc rd ______
(1) MkVk dks vksojjkbV u fd;k tk,
(2) jhlkbfdy fcu dks [kkyh u fd;k tk,
(3) Qkby dEiszl djus okyh lqfoèkk dk iz;ksx u fd;k tk,
(4) fMLd LdSu u dh tk,
(5) buesa ls dksbZ ugha

216. fiDpj] lkmaM vkSj ohfM;ks ls cuh vkmViqV dks D;k dgrs gSa \
(1) COM (2) gkMZ dkWih
(3) xzkfQDl (4) eYVhehfM;k
(5) buesa ls dksbZ ugha

217. izksxzkeksa vkSj LVksjst Lisl ckaVus ds fy, loZj ls fyaDM dbZ daI;wVj
fdlesa gksrs gSa \
(1) usVodZ (2) xzqfiax
(3) ykbczsjh (4) baVsxzsfVM
(5) buesa ls dksbZ ugha

218. xf.krh; leL;kvksa dks gy djus ds fy, lqifjHkkf"kr vuqns'kksa ds
fu/kkZfjr lsV dks ______ dgrs gSaA
(1) dEikbyj (2) dksM
(3) fMfLØI'ku (4) ,Yxksfjn~e
(5) buesa ls dksbZ ugha

219. iz;ksx djus ds fy, ¶ykWih rS;kj djus dh izfØ;k dks ______
dgrs gSaA
(1) vlsEcfyax (2) VªkalysfVax
(3) ikflZx (4) QkjeSfVax
(5) buesa ls dksbZ ugha

220. LAN dk iw.kZ D;k gS \
(1) Local Access Network
(2) Local Area Network
(3) Logical Access Network
(4) Logical Area Network
(5) buesa ls dksbZ ugha

221. QhYM ______ dk fjysVsM xzqi gSA
(1) fjdkWM~lZ (2) QkbYt
(3) djsDVlZ (4) dscYl
(5) buesa ls dksbZ ugha

222. Qkby dk vFkZiw.kZ uke gks rks vklkuh ls Qkby ______ esa enn
feyrh gSA
(1) LVksfjax (2) ,Dlsflax
(3) vkbMsafVfQds'ku (4) fizafVax
(5) buesa ls dksbZ ugha

223. daI;wVj dks fjLVkVZ djus ds fy, ______ dqath dk iz;ksx fd;k
tkrk gSA
(1) fMyhV vkSj daVªksy
(2) cSdLisl vkSj daVªksy
(3) daVªksy vkSj vkYV vkSj fMyhV
(4) jhlsV (5) buesa ls dksbZ ugha

224. lHkh gkMZos;j] lkW¶os;j] LVksjst vkSj izkslsflax dks ,d gh yksds'ku
esa j[kus dks ______ dgrs gSaA
(1) Vkbe-'ks;fjax (2) fMLVªhC;wfVM flLVe
(3) lsaVªykbTM izkslsflax (4) gksLV daI;wVj
(5) buesa ls dksbZ ugha

225. daI;wVj ______ uacj flLVe ij dke djrk gSA
(1) ckbujh (2) vkWDVy
(3) Msfley (4) gsDlkMsfley
(5) buesa ls dksbZ ugha

226. fjdkMZ dk tks laca/k Qkby ls gksrk gS] LVsVesaV dk ogh lacaèk
______ ls gksrk gSaA
(1) izkslhtj (2) Qkby
(3) izksxzke (4) MkVk
(5) buesa ls dksbZ ugha

227. lkW¶V dkih dk vFkZ gS ______
(1) fiazfVM vkmViqV (2) E;wftd lkmaM
(3) LØhu vkmViqV (4) fMftVkbftax
(5) buesa ls dksbZ ugha
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228. A program that enables you to perform calculations

involving rows and columns of numbers is called a
______
(1) spreadsheet program
(2) word processor
(3) graphics package (4) window
(5) None of the above

229. WWW stands for ______
(1) World Work Web (2) Wide Work Web
(3) Wide World Web (4) World Wide Web
(5) None of the above

230. The physical components of a computer system is
______
(1) Software (2) Hardware
(3) ALU (4) Control Unit
(5) None of the above

231. Which is a graphical representation of an application?
(1) Windows 95 (2) Windows Explorer
(3) Icon (4) Taskbar
(5) None of the above

232. OCR stands for ______
(1) Optical Character Recognition
(2) Optical CPU Recognition
(3) Optimal Character Rendering
(4) Other Character Restoration
(5) None of these

233. If a new device is attached to a computer, such as a
printer or scanner, its.______ must be installed before
the device can be used.
(1) buffer (2) driver
(3) pager (4) server
(5) None of these

234. The software that allows users to surf the Internet is
called a/ an ______
(1) Search engine
(2) Internet Service Provider (ISP)
(3) Multimedia application
(4) Browser (5) None of these

235. A tuple is a ______
(1) column of a table (2) two dimensional table
(3) row of a table (4) key of a table
(5) None of these

236. The method of file organization in which data records in
a file are arranged in a specified order according to a
key field is known as the ______
(1) Direct access method
(2) Queuing method
(3) Predetermined method
(4) Sequential access method
(5) None of these

237. In Excel______contains one or more worksheets.
(1) Template (2) Workbook
(3) Active cell (4) Label
(5) None of these

238. Which of the following is a popular programming
language for developing multimedia web pages,
websites, and web-based applications?
(1) COBOL (2) Java
(3) BASIC (4) Assembler
(5) None of these

239. Compiling creates a (n) ______
(1) program specification
(2) algorithm
(3) executable program
(4) subroutine
(5) None of these

240. A CD-RW disk ______
(1) has a faster access than an internal disk
(2) is a form of optical disk, so it can only be written

once
(3) holds less data than a floppy disk
(4) can be erased and rewritten
(5) None of these

241. The first page of a Web site is called the______
(1) Homepage (2) Index
(3) Java Script (4) Book mark
(5) None of those

142. A word in a web page that, when clicked, opens another
document ______
(1) anchor (2) URL
(3) hyperlink (4) reference
(5) None of these

243. The______ manual tells you how to use a software
program.
(1) documentation (2) programming
(3) technical (4) user
(5) None of these

244. What disk is used to cold boot a PC?
(1) Setup disk (2) System disk
(3) Diagnostic disk (4) Program disk
(5) None of these

245. The______ tells the computer how to use its
components.
(1) utility (2) network
(3) operating system (4) application program
(5) None of these

246. A ______contains buttons and menus that provide quick
access to commonly used commands.
(1) menu bar (2) toolbar
(3) window (4) action bar
(5) None of these

247. Numbers in table columns are usually ______
(1) right-aligned (2) left-aligned
(3) justified (4) centered
(5) None of these

248. The______ of software contains lists of commands and
options.
(1) menu bar (2) title bar
(3) formula bar (4) tool bar
(5) None of these

249. To access a mainframe or supercomputer, users often
use a ______
(1) terminal (2) node
(3) desktop (4) handheld
(5) None of these

250. By default, your documents print in______mode.
(1) Landscape (2) Portrait
(3) Page Setup (4) Print View
(5) None of these
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228. ml izksxzke dks D;k dgrs gSa ftlls jkst vkSj dkWyEl esa la[;kvkas

dh x.kuk dh tk ldrh gS \
(1) LiszM'khV izksxzke (2) oMZ izkslslj
(3) xzkfQDl iSdst (4) foaMks
(5) buesa ls dksbZ ugha

229. WWW dk iw.kZ :i D;k gS \
(1) World Work Web (2) Wide Work Web
(3) Wide World Web (4) World Wide Web
(5) buesa ls dksbZ ugha

230. daI;wVj flLVe dk fQftdy ?kVd dkSu lk gS \
(1) lkW¶Vos;j (2) gkMZos;j
(3)  ALU (4) daVªksy ;wfuV
(5) buesa ls dksbZ ugha

231. ,d ,fIyds'ku dk xzkfQdy fjizstsaVs'ku dkSu lk gS \
(1) foaMkst 95 (2) foaMkst ,DlIyksjj
(3) vk;du (4) VkLdckj
(5) buesa ls dksbZ ugha

232. OCR dk iw.kZ:i D;k gS\
(1) Optical Character Recognition
(2) Optical CPU Recognition
(3) Optimal Character Rendering
(4) Other Character Restoration
(5) buesa ls dksbZ ugha

233. ;fn daI;wVj esa fizaVj ;k LdSuj tSlh ubZ fMokbl vVSp dh tkrh
gS rks fMokbl dk iz;ksx fd, tkus ls igys bldk ______
baLVky fd;k tkuk pkfg,A
(1) cQj (2) Mªkboj
(3) istj (4) loZj
(5) buesa ls dksbZ ugha

234. ftl lk¶Vos;j ls iz;ksDrk baVjusV lQZ dj ysrs gSa mls ______dgrs
gSaA
(1) lpZ baftu
(2) baVjusV lfoZl izksokbMj (ISP)
(3) eYVhehfM;k ,fIyds'ku
(4) czkmtj (5) buesa ls dksbZ ugha

235. Vwiy D;k gksrk gS\
(1) Vscy dk dkWye (2) nks vk;keh Vscy
(3) Vscy dh ,d jks (4) Vscy dh ,d dqath
(5) buesa ls dksbZ ugha

236. Qkby vkxsZukbt djus ds ml rjhds dks D;k dgrs gSa, ftlesa
Qkby ds MkVk fjdkWMZ dqath QhYM ds eqrkfcd ,d fo'ks"k Øe esa
yxk, tkrs gSa \
(1) Mk;jsDV ,Dlsl esFkM (2) D;wbax esFksM
(3) izhfMVfeZUV esFksM (4) lhDosaf'k;y ,Dlsl esFksM
(5) buesa ls dksbZ ugha

237. ,Dlsy esa ______ esa ,d ;k vfèkd odZ'khV gksrh gS A
(1) VsEiysV (2) odZcqd
(3) bfDVo lsy (4) yscy
(5) buesa ls dksbZ ugha

238. eYVhehfM;k oscist, osclkbV vkSj osc vk/kkfjr ,fIyds'ku fodflr
djus ds fy, lcls yksdfiz; ySaXost fuEu esa ls dkSu lh gS \
(1) dkscksy (2) tkok
(3) csfld (4) ,lsEcyj
(5) buesa ls dksbZ ugha

239. dEikbfyax ls ______ fØ,V gksrk/gksrh gSA
(1) izksxzke LisflfQds'ku (2) ,Yxksfjn~ae
(3) ,DthD;wVscy izksxzke (4) lc :Vhu
(5) buesa ls dksbZ ugha

240. CD-RW fMLd______
(1) dk baVuZy fMLd dh rqyuk esa rst ,Dlsl gksrk gS
(2) vkWfIVdy fMLd ds :i esa gS blfy, bls ,d gh ckj jkbV

fd;k tk ldrk gS
(3) esa ¶ykWih fMLd dh rqyuk esa de MkVk vkrk gS
(4) dks bjst vkSj jhjkbV fd;k tk ldrk gS
(5) buesa ls dksbZ ugha

241. osc lkbV ds igys ist dks ______dgrs gSaA
(1) gkse ist (2) baMsDl
(3) tkok fLØIV (4) cqd ekdZ
(5) buesa ls dksbZ ugha

242. osc ist esa ml 'kCn dks D;k dgrs gSa, ftls fDyd djus ij nwljk
MkD;qesaV [kqy tkrk gS \
(1) ,Udj (2) URL
(3) gkbij fyad (4) jsQjsal
(5) buesa ls dksbZ ugha

243. ______eSU;qvy ls irk pyrk gS fd lkW¶Vos;j izksxzke dk iz;ksx
dSls fd;k tk,A
(1) MkD;qesaVs'ku (2) izksxzkfeax
(3) VsfDudy (4) ;wtj
(5) buesa ls dksbZ ugha

244. PC dks dksYM cwV djus ds fy, dkSu lh fMLd iz;ksx es a ykbZ tkrh gS?
(1) lsV vi fMLd (2) flLVe fMLd
(3) Mk;XukWfLVd fMLd (4) ,fIyds'ku izksxzke
(5) buesa ls dksbZ ugha

245. ______dEI;wVj dks crkrk (crkrh) gS fd blds dEiksusaVksa dks dSls
iz;ksx djuk pkfg,A
(1) ;wfVfyVh (2) usVodZ
(3) vkijsfVax flLVe (4) ,fIyds'ku izksxzke
(5) buesa ls dksbZ ugha

246. _____ esa cVu vkSj eSU;w gksrs gSa ftuls dkWeu :i esa iz;qDr dekaMksa
rd 'kh?kz ,Dlsl gks tkrk gSA
(1) esU;w ckj (2) Vwy ckj
(3) foaMks (4) ,D'ku ckj
(5) buesa ls dksbZ ugha

247. Vscy dkWye esa la[;k,a lkekU;r% _____ gksrh gSaA
(1) jkbV ,ykbUM (2) ys¶V ,ykbUM
(3) tLVhQkbM (4) lsaVMZ
(5) buesa ls dksbZ ugha

248. lkW¶Vos;j d______ esa dekaMksa vkSj vkWI'kuksa dh lwph gksrh gSA
(1) esU;w ckj (2) VkbVy ckj
(3) QkewZyk Ckkj (4) Vwy ckj
(5) buesa ls dksbZ ugha

249. esuÝse ;k lqij dEI;wVj dks ,Dlsl djus ds fy, iz;ksDrk izk;%_____
dk iz;ksx djrs gSaA
(1) VfeZuy (2) uksM
(3) MsLdVkWi (4) gSaMgsYM
(5) buesa ls dksbZ ugha

250. ckbZ fMQkWYV MkD;qesaV_____ eksM esa fizaV gksrk gSA
(1) ySaMLdsi (2) iksVªs ZV
(3) ist lsVvi (4) fizaV O;w
(5) buesa ls dksbZ ugha
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